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BEWARE OF NEGATIVE MARKING

TOPIC : FULL SYLLABUS (MODEL)

SECTION-A

Attempt All 35 Questions

In an experiment, to measure the height of a
bridge by dropping stone into water underneath,
if the error in measurement of time is 0.1s at the
end of 2s, then the error in estimation of height of
bridge will be :

(1) 0.49m
(2) 0.98m
(3) 1.96m
@) 2.12m

If speed V, area A and force F are chosen as
fundamental units, then the dimension of Young's
modulus will be :

(1) FAxV=

(2) FAV

(3) FA22

(4) FA-\O

The quantities X = 1 , Y= E and Z =i are
Mo & B CR

defined where C-capacitance, R-Resistance,
L-Length, E-Electric field, B-magnetic field and

€, H, — free space permittivity and permeability
respectively. Then :

(1) OnlyY and Z have the same dimension
(2)
(3) Only X and Z have the same dimension
(4)

Only X and Y have the same dimension

Only X, Y and Z have the same dimension

If c=A+B and A LC and |é|—@,then find

N

angle between A and g :

@) -

SECTION-A

Attempt All 35 Questions

Frdt galar o g Y SS9 @ g, @A ¢
Yoo BIT oIl 2 1 98 IF & ol 9 989 A 2s ol
21 3l 99 A9 ¥ B9 gl R 0.1 58 at 7@ @t
FHAE & M9 A FRe 8

(1) 0.49m

) 0.98m

@) 1.96m

@) 2.12m

Iie M V, da%d AFAR 998 F &l @ gFie 9 awe forar
R & g & e @ R el

(1) FAzy=
(2) FARv-
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ST 21 9@l CAHRA, RUfeRY, LS, Efasa &,

B 84, ¢, -YUATA® IR 1, FFherr
m:z’fe?r:

(1) Faa Y I 2 F R wH =
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For a wavelength of 400 nm, Kinetic energy of
emitted photoelectron is twice that for a
wavelength of 600 nm from a given metal. The
work function of metal is :

(1) 1.03eV
@) 2.11eV
3) 4.14eV
(4) 2.43eV

Particle of mass 'M' at rest breaks into two particles

M 2Mm . .
of masses 3 and 3 Find the ratio of their de-

Broglie wavelengths :
(1) 1:2
2 1:1
3 2:1
4 2:3

If the velcoity v of a particle moving along a
straight line decreases linearly with its
displacement s from 20 m/s to a value
approaching zero at s = 30 m, then acceleration
of the particleatv=10m/s is :

V (m/s)

20

o3 S
1) (2/3) ms2

2) —(2/3) ms?

3) (20/3) ms=

{(4) —(20/3) ms™

The ionisation potential of H-atom is 13.6 V. When
it is excited from ground state by monochromatic

radiations of 970.6 A, the number of emission lines
will be (according to Bohr's theory) :

(1) 10
(2) 8
(3) 6
@ 4.

If radius of first orbit is R, then radius of its third
orbit will be :

—

400 nm =} TR ¥ IRl B9 9 et
Y i o 600 nm & TR 3 Iealla 819 aret
FRicgealHl @ T ol @) O 21 uTg B S
e 4T BN

(1) 1.03eV

2) 2.11eV
3) 414 eV
4) 2.43eV

ToRPraeT & "M SR T O 9T < Sl %aﬂr

? ¥ forrea e o 21 @ I -l gasd

I FAIE ®:

(1 1:2

@ 1:1

3 2:1

4 2:3

A 3 W ard A g <uiar @ 2 R o wor @ A
FeMmE s aT-ay el w2 Al 30 m W
9 & wrar 21 o7 10 mis IR RT3

V (mis)

20

ol 3 5 » S (m)

(1) (2/3)ms2

(2) ~2/3)ms2

(3) (20/3)ms™=

4) ~20/3)ms2

B T T A v 13.6 V2| o a9
we (YA Fae) ¥ aeRe 970.6 A% 3R I
o1 21 Iwafvia Yl 3t wer e

(1) 10

(2 8

(3) 6

@) 4.

i Rl 9] 9 woRT w9 s R 2, ° i
e o Faoar sh:

(1) 5R

2) 6R
@) R
@) R
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10.

1.

12.

13.

14.

From the top of tower, a particle is thrown vertically
downwards with a velocity of 10 m/s. The ratio of
the distances covered by it in the 3rd and 2nd
seconds of the motion is : (Take g =10 m/s?) :

(1) 5:7
(2) 7:5
3) 3:6
(4) 6:3
Two guns A and B can fire bullets at speed 1km/s
and 2km/s respectively. From a point on a
horizontal ground, they are fired in all possible
directions. The ratio of maximum areas covered

by the bullets fired by the two guns, on the ground
is:

(11:2

(2)1:4

(3)1:8

(4)1:16

A projectile is fired at an angle of 45° with the
horizontal Elevation angle of projectile at its
highest point as seen from the point of projection
is:

2 | \/5
(1) tan (7}

(2) 45°
(3) 60°

1
tan™'—
(4) tan” 2

The half-life of Bi*'? is 5 days. What time is taken
by (7/8)th part of the sample to decay:

(1) 3.4 days
(2) 10 days
(3) 15 days
(4) 20 days

To get an output Y = 1 from the circuit shown
below, the input must be :

é::D—j_ﬂ,

Ce

M
@
©)
4

A=1,B=0,C=0
A=0,B=1,C=0
A=0,B=0,C=1

A=1,B=0,C=1

| 12.

10.

11.

13.

14.

T AAR % S99 597 10 /A P TS A T
TRl WAl 2 39 & gRI d] 7 g dvel 3 Tel
¥ = ATIF BRI (g =10 m/s?) :

(1) 5:7

@ 7:5
(3) 3:6
4) 6:3
A dg AJNB W 1km/s AR 2km/s T &
Tiferar = g 2 @foet oA W T g ¥ 38 W
g e o 9o fRar sr 21 < ST B 9erh 1
Tiferat &1 AT ATEA HT IFTIT BRI

(1)1:2

(2)1:4

(3)1:8

(3)1:16

T e i 45° B I R I8 9 AR A Fr
@ U9 99 Ieaa g W 18 Brar wirar 21 < e
gayr fag 3 ar e 2

443
(1) tan [?)

(2)45°
(3)60°

1
tan™' =
(4) 2

Biz* &} 31 g 5 2 Frdt P & (7/8)th smr =it
&g B9 A G o 2

(1) 3.4

() 107

(3)15f+

(4)20fe

22 1 9Rey ¥ efawe Y=199 & & o
Frfafaa & <9 ar Rl a9 o <t

QW}Y

Ce

(1) A=1,B=0,C=0
2 A=0,B=1,C=0
3) A=0,B=0,C=1
4) A=1,B=0,C=1
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15.

16.

17.

A given object takes n times as much time to slide
down a 45° rough incline at it takes to slide down
a perfectly smooth 45°incline. The coefficient of
kinetic friction between the object and the incline
is given by:

1
o (-2

1
@

Assertion: Light emitting diode (LED) emits
spontaneous radiation

Reason: LED are forward biased p-n junctions

(1)

If both assertion and reason are true and the reason
is the correct explanation of the assertion

If both assertion and reason are true but reason is

@)

not the correct explanation of the assertion

If assertion is true but reason is false

)
(4)

The given graph represents V-l characteristic for
a semiconductor device :

It the assertion and reason both are false

e

Which of the following statement is correct :

(1) Itis V-1 characteristic for solar cell where, point A
represents open circuit voltage and point B short
circuit current

(2) Itis for a solar cell and points A and B represent

opent circuit voltage and current, respectively.

)

Itis for a photodioide and points Aand B represents
open circuit voltage and current, respectively
)

Itis for a LED and points A and B represent open
circuit voltage and short circuit current, respectively.

15.

16.

17.

45" HIV] B Teh T T T WA A 3R g at
Rve =7 99 45° & Yuia: e 99 wae W) e
& W A nIFT At 71 five sk - e 9 awsm)
& i aifor Telvr Ui 6T 9 BN

1
o (3]

JFhY: T Iciuish SMIE (LED) 9 Rfeor @e:
Jahoid Bl ?
IR9T: LED 31 Al p-nafir 2

(1) e R 3R HRT M1 GE 2 3R RO T
1 GEl Ty ] B

(2) A JFFo SR 0T 2R EE) R fReg T g
T qE TSI e I B

(3) 4l grRae @&t & e IR T B

(4) af? g 3R TR A T )

% A Far 1ar V-l SRR 9% v adae 99
% forg foar war 2

K%

FRisRaT s

(1) 9§ V-1 U Hier & & forg 7, wET fig A aitey
%7 foT 3k Mg B wufore 9Raer =1 fovig samr 2

(2) 9% QR A B forg 7 3R g Asik Bgel tReyr &
o fovma 3t o ST ®

(3) g% FICrEEE & fo 2 3k i Asik B wRay &
forg fonva 3R o S92

(4) 7% LED & fory 2 3t g Al B uftay & forg
Ty sl aemfalE o s\ 21
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18.

19.

20.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in the
figure) just completes a vertical circle of diameter
AB = D. The height h is equal to

L >

vy)

(1) 3/2D
) D

3) 7/5D
(4) 5/4D

The block of mass M moving on the frictionless
horizontal surface collides with the spring of spring
constant K and compresses it by length L. The

maximum momentum of the block after collision |
is:

f(m|

KL?
Ay S
@ v

Assertion: The temperature at which Centigrade
and Fahrenheit thermometers read the same is
—40°.

Reason: There is no relation between Fahrenheit
and Centigrade temperature.

(1)

If both assertion and reason are true and the reason
is the correct explanation of the assertion

If both assertion and reason are true but reason is
not the correct explanation of the assertion

If assertion is true but reason is false

It the assertion and reason both are false

18.

19.

20.

Fre 3 23t FER A h g T @ sERy
ot Jaer @ WA arer #iS e =@ AB=D&
FHATER I I 31 [0 &A1 8 99 S91% half

L >

%

(1) 372D

2 D

@) 7/5D

4) 5/4D

M TR T U Il ol adviel dfas 99 W i
F @l 21 KRy Fgares o v Ruar @ eagar 21 aur
T L0 o 99T oar 21 98¢ & T T
iftrar @3 21

f(M|

JMK L

KL?

oM

YFh : —40° 98 A9 & e W wAeEe v dfagas
e 9 9 31 21

HRVT : AfcaTE A9 v BRAREE O9 D N HIS S
T8 21

(1) T YRy FR R SR g9 2 3R FROT TR
T FE TR 4T R

(2) o JFRE A HROT G EE TR HROT TR
T LT TSR] EI o B

(3) afe g w8l B g FRoT T 1
(4) TfE JFFe 3T FROT I e =1
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21.

22,

23.

24,

25,

The moment of inertia of a thin uniform rod rotating
about the perpendicular axis passing through one

end is 'T. The same rod is bent into a ring and its

moment of inertia about the diameter is I', then

1
the ratio F is

8 , S,
(1) gTC (2) gTE
3, 2,
(3) ETC 4) gTE

Two bodies of masses m and 4m are placed at a
distance r. The gravitational potential at a point
on the line joining them where the gravitational
field is zero is:

(1) Zero

E 6Gm
r r

)

At what temperature is the r.m.s velocity of a |
hydrogen molecule equal to that of an oxygen
molecule at 47°C:

(1) 80K
(2)
(3)
(4)

-73K

3K

20 K.

A simple pendulum executing S.H.M. about x =0

with period T and amplitude A. Its speed when at

. A
adistance — is

2
TEAJE nA\/E
(1) — 2 T
T A TA
(3) T @) Bl

In a thermodynamic process, pressure of a fixed
mass of a gas is changed in such a manner that
the gas molecules gives out 20 J of heat and 10 J
of work is done on the gas. If the initial internal
energy of the gas was 40 J. then the final internal
energy will be:

(1) 30J
) 20J
(3) 60J
@) 40J

21.

22,

23.

24.

25.

T Yol T 9 S 6 oieed AV 'T'2 wilfs ge
Fvw ¥ BT WM drel oA, A @ RS I @ B
Ife 341 23 &) AT 9o & & A yRafda = R

o e e = aRen g e el 1R A
Glﬁ'ﬂﬂﬁ"":

8 5
(1 g“z @) gﬂz

3 2,
(3) ETC (4) g‘.’t

A MYE 4m ] TR O g 4 98 rRIEn
21 IR FeaR arel Y & g g W) e

EEEREUE e U E R k]

() T @ -0

@ - @ -

e o W 2rEdoE @ AvEl 9 rm.s 3T e @

A B 47°C R AT 997 = IR 2
(1) 80K

@) -73K

@) 3K

(4) 20K.

T G dldeh 6l AEdDId THR A@F AR x=0%

ey o FET T A 2 | 59 @ %‘K%,Tﬁ
e B

(1) "AT‘E @) “A;/E
T A T A
@ S5 @ <5

& SIS Th A o A A R st wree
R YRafkia star 2 & W9 s 20 J s Y w0
2 9 39 W 10 JHH forar wirar 21 9 A9 9 yrfe
AFARE el 40 J i 99 Tl A7 ATARF ot el

(1) 30J
2) 20J
3) 60J
4) 40J
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26.

27.

28.

A charged particle is balanced in electric field E.
If direction of field is reversed then find
acceleration on particle :

(1) 10 m/s?
(2) 15m/s?
(3) 20 m/s?
4) Zero.

A point dipole p = —p,x is kept at the origin. The
potential and electric field due to this dipole on
the y-axis at a distance d are respectively:

(Take V = 0 at infinity):

lpl P
) Jre,d® ane,d®

1P| p
4ne,d®’ Ane,d®

(3)

-p
01
() 4ne,d’

In the following figure, electric flux passing through
the surface is :

/\q
al2
v a
a

() -
Bz,
(3) 4g,
@) 5o

26.

27.

28.

T JRARE Fur @ &= A aqfera € ol &9 ot e
Fagla o & 9 A 9T R T TaEd;

(1) 1030 /#0?
(2) 1590 /%0°
(3) 20%i0 /%07
4 3.

v g Rys p=pr @R RAm 2 S
BT @ FRY y-317 R d gl W oo @ faga a9
T

(I T | V=03):

Pl P
() 4ne,d® " 4ne, d’

p
0, ——
(2) 4ne o’
1P| p
dne o dme,d

3)

@ 4n_1»:[:d3
Frifra e A woe @ oA arel I W S AH
BN

/\q
al2
v a
a

M
@ 3,
©) 4%
@ 5
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29.

30.

31

32.

At what temprature,the velocity of sound will be
double its value at 273 K :

(1) 2x273K
@) 4x273K
(3) 8 x 273K
(4) 16 x 273 K

In the figure shown below the charge on the left
plate of the 10pF capacitor is —30uC. The charge
on the right plate of the 6uF capacitor is:

|
Py

_IIO;zF I 2ﬂ|F_
I4”F

(1) -18uC

@) -12uC

(3) +12uC

(4) +18uC

In stationary wave all particles between two nodes
pass through the mean position :

(1) Atdifferent times with different velocities
(2) Atdifferent times with the same velocity
(3) Atthe same time with equal velocity

(4) Atthe same time with different velocities

A wire of resistance R is bent to form a square
ABCD as shown in the figure. The effective
resistance beteen E and C is:

(E is mid-point of arm CD)

A B
p—4—c
E
MR
@) 116R
(3) 7/64R
@) 3/4R

29.

30.

31.

32.

o a9 R el =1 A T © R, S g =

273K®:
1) 2x 273K

3

(N
(2) 4x273K
(3) 8x 273K

(4) 16 x 273K

RER M@ R & 10pF % guRT 3% &1 <ie W)
~30,C AW 21 6pF & FIRA F I e | 7
2R

| |
11
Ou
+< -
10uF r 2uF
IIun

(1) -18uC

2) -12uC

(3) +12uC

4) +18uC

AYIE T A < el @ S @ @i o ey Ry
¥ R 2

(1) = o W 7 a9 & A

) o ot 9 e A & Ay

(3) U & 99 W G AT & 9

@) v & oy W B 39 & 9y

9T R% ¢eh aR %) FRETER ¢ @i ABCD# #ier
T 21 farg Eaur C & v aiRe =1 e s

(E ¥ CD &7 seAfag 2)
A B
p—4—Ic

E

(1) R

2) 116R

(3) 7/64R

(4) 3/4R
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33. Acarbon resistance has a following colour code. | 33, = 9faRtr =1 ®e =is e 21 38 9oy 1 99
What is the value of the resistance:
BRI
-4 (Ll
Golden v oV ov
G O Y G O Y Golden
(1) 1.64MQ+5% (1) 1.64MQ+5%
(2) 530kQt5% (2) 530kQ+5%
(3) 84 kQt10% (3) 64kQ+£10%
(4) 5.3MQx5% (4) 5.3MQ+5%
34. For the circuit shown with R = 1.00, R, =2.00, E, | 34. Rem @ aRewr &, R, =1.0Q,R,= 2.00, E, =2V 3k
=2Vand E, = _E3 = 4V, the ;-)otential .differenc.:e E,=E, = PAVE-3] ﬁ?gsfr 2" 991 'b' & 99 favarae
s;etween the points ‘a’ and 'b’ is approximately (in T (V)2

(1) 2.7 (1) 2.7
2) 33 ) 33
(3) 23 (3) 23
) 37 @) 37
35. In the circuit shown below E.= 4.0V, R=20, [ 35. = &4 @ 9y ¥ E=4.0V,R=20,E,= 6.0V,
E,= 6.0V, R,=4Q and R,= 20 . The current |, is: R,=4 QW R;=203d ur | BHf:
i R| = 2 Q L Rl = 2 Q
i} AW 1} AW
I E,=4V i E,=4V
1 R;=20Q N R,=2Q
AW AW
k) R, =4Q 2 R, =4Q
|t MWW L AW
E;=6V E.=6V
(1) 1.6A (1) 1.6A
(2 1.8A (2) 1.8A
(3) 1.25A (3) 1.25A
4) 1.0A 4) 1.0A

NLI/11



SECTION-B

qvs-B

This section will have 15 questions. Candidate can
choose to attempt any 10 questions out of these 15
questions. In case if candidate attempts more than
10 questions, first 10 attempted questions will be
considered for marking.

36.

37.

38.

Two plano-concave lenses (1 and 2) glass of
refractive index 1.5 have radii of curvature 25 cm
and 20 cm. They are placed in contact with their
curved surface towards each other and the space
between them is filled with liquid of refractive
index 4/3. Then the combination is

(1) Convex of focal length 70 cm

(2) Concave of focal length 70 cm I
(3) Concave of focal length 66.6 cm

{4) Convex of focal length 66.6 cm

Two similar plano-convex lenses are combined |
together in threee different ways as shown in the
adjoining figure. The ratio of the focal lengths in
three cases will be |

(M 2:2:1

2 1:1:1

3) 1:2:2

4 2:1:1

Which of the following statements is true for the
three types of magnetism - para, dia and fero

(1) Paramagnetism is associated with negative
susceptibility and dia and ferromagnetism with
positive susceptibility

@)

Diamagnetism is generally weakest of the three,
and is associated with negative susceptibility

Ferromagnetism is the strongest of the three and
is associated with negative susceptibility

(3)

(4) Allthree are associated with positive suceptibility,
diamagnetism is the weakest from of magnetism,
and ferromagnetism is the strongest from.

T @ ¥ 1575 21 70l g 15950 4 @ A5 o
10 93 ¢ Gehell =1 e el 109 st 937 @1
IR a1 ¢ A 5o FRRY g TR 1079 € A B

36.

37.

38.

AYTAIH 1.5 FHid D < Gad sigad oF (1 3R 2)
Y amhar Frad 25 cm @R 20 cm? | T 9% w@Er
&l WER 9N 9 & @ 97 21 9% 998l & A
é;"aﬁéﬂmmmrﬁﬂtﬁmw%l I 98 EE

(1) 70 cm %IehE T4 T Iodd o9
(2) 70 cm Hid TU HT HaTd oG
(3) 66.6 cm HIFHF A FT T o4
(4) 66.6 cm BIFH T FT I o

3 YA G Idel -4l i G TaAIER dF YRR
A wAifT faar <Irm 2 1 59 S S e 3Rl &
(3) 1:

FFIIT BRI
@) 2:1:1

/T A 3 =T O FoF gaahed @ AN TSR AR, 39

oq e qudhcd @ G9U § 99 7

(1) Fdshca ot wgfed U 791 IR 3R s dahe
1 wgfed AT B 2

(2) i AURVE: S ¥ AR BT ? T T8
Taied O Bl ©

(3) e gaehed Al & @R 2o} T TEE gafe
FOTHF Bl &

(4) A 6t g e B 8 yiigaed 9ee FEeiK

(1) 2:2:1
@ 1:1:1
P
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39.

40.

41.

42,

If the angle of prism is 60° and the angle of
minimum deviation is 40°, the angle of refraction
will be:

(1) 3C°

(2) 60°

(3) 100°

4) 120°

The magnetic force acting on a charge particle of
charge -2uC in a magnetic field of 2T acting in y
direction, when the particle velocity is
(2i +3j)x10° ms™ is:

(1) 8 Nin —z direction

(2) 4 Nin z direction

(3)

(4) 8 Nin z direction

Two coherent sources produce waves of different
intensities which interfere after interference the
ratio of the maximum intensity to the minimum

8 N in y direction

intensity is 16. The intensity of the waves are in |

the ratio:
(1) 4:1

(2) 25:9
(3) 16:9
4) 5:3

If the ratio of diameters, lengths and Young's
modulus of steel and copper wires shown in the
figure are p, q and s respectively, then the
corresponding ratio of increase in their lengths
would be:

LLLLLLOL LS

steel

copper

5m

39.

40.

41.

42.

3 ST oy &1 A 60°¢a A e T
AR 40° Bt o I HIVT T A BHWI

(1) 30°

2) 60°

3) 100°

) 120

O AR H1 R AR™T T 9 -2pC 21 97 yian
A e 2T & gl 8 3 1 (21 +3j) x10° ms™”
9 @1 8t A 39 W Rl e a9 shm

(1) 8N, —zfear ¥

2) 4N, zfe=m ¥

3) 8N, yfar ¥

(4) 8N, zfay ¥

T FaaTEe 90T Sl 9 3o RET diaarst @
TG B AT 2T 2 1 T @ W1 AT T
e s ST A9 16 @ aF ad 9t Jsaaet w1
FAT BN

(1) 4:1

2) 25:9

3) 16:9

@) 5:3

o & e 9w 9 & 9R T A9, S 991 97
VT YT B P,  TATS R, T T avarsar F
3f& =1 A shm

LI LY
steel

copper

5m

5q
M 7 sp?)

@ Gsp)
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43,

45,

46.

47,

Which one of the following is the property of a
monochromatic, plane electromagnetic wave in
free space:

(1) Electric and magnetic fields have a phase difference
of /2

The energy contribution of both electric and

magnetic fields are equal

@)

(3) The direction of propagation is in the direction of
BxE

The pressure exerted by the wave is the product of
its speed and energy density

(4)

The frequencies of X-rays, y-rays and ultraviolet
rays are respectively a, b and c. Then:

(1) a<b,b>c

(2 a>b,b>c
(3 a>b,b<c

4) a<b,b<c

Atransistor-oscillator using a resonant circuit with 45,

an inductor L (of negligible resistance) and a
capacitor C in series produce oscillation of
frequency f. If L is doubled and C is changed to
4C, the frequency will be: |

(1) /242

(2) f2

(3) fi4

(4) 8f

In a series resonant LCR circuit, the voltage across

R is 100 volts and R=1kQ with C=2uF. The

resonant frequency w is 200 rad/s. At resonance
the voltage across L is:

(1) 40V

(2) 250V

(3) 4%10°V
@) 25x 102V

Atransformer consisting of 300 turns in the primary
and 150 turns in the secondary gives output power
of 2.2 kW. If the current in the secondary coil is 10
A, then the input voltage and current in the
primary coil are:

(1) 220Vand 10A
(2) 440V and 5A
(3) 440Vand 20 A
(@) 220Vand 20 A

43.

46.

47.

Frfofea A 5 ar v o o s A o aofig

A TaRa I O & T R

(1) Taga 9 e & § FAMR /2 BT B

(2) faga T Faig &1 ¥ Sofl 1 e W B

@) TR H RMpER RmAaH 2

(4) T 3 AR 9 IR AT TN oAl T Y
RS BT

XFeeor, y et ¢ vt e 3 amafea s a,

b¥q c.2 dl:

(1) a<b,b>c

(2 a>b,b>c

(3) a»b,b<c

4) a<b,b<c

ve gl dferd & A9 IRy I v R L

(v g oo TuiRT C AW A g dE R f

FaMgfed & A IO+ Bid 21 3f L el g o= C
= 4C yRafda farar s 9= amgfe =i

(M fr2y2
@) 12
(3) 14
(4) &

soft LCRYRy> ¥ R qRa: diwedr 100 volt &=
R=1kQ % 9 C =2pF 3 S Agfa 2003w
d7vs 2 IR 9 Raf w LS aRa: ateean

(1) 40V

@) 250V

(3) 4x 1073V

@) 25x 102V

300 % 91T I U 9T 150 H Jrell BdEs
el arel U EHRIK 3 FRta o 2.2 kw2 afe

el Svsell & oRT &1 A 10 AR 9 R Al
F gl Feell F o P A9 2

(1) 220 Vand 10A
(2) 440V and 5A

(3) 440V and 20 A
(4) 220 Vand 20A
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48.

49,

50.

Column | Column Il

(A) Bernoullis theorem 1. Narrower pipes have

less pressure

(B) Ball moving with 2. Paint gun
spin

(C) Artificial high 3. Non-viscous fluid
pressure

(D) Streamline flow 4. Conservation of

energy

5. Uplift due to
pressure difference

(1) A-34B-5,C-2,D-1,3
(2) A-1B-2,C-3,D-4
(3) A-2,B-5,C-4,D-3
(4) A-3,4B-5,C-2, D-1

The galvanometer cannot as such be used as an
ammeter to measure the value of current in a
given circuit. The following reasons are:

. galvanometer gives full scale deflection for a
small current.

Il. Galvanometer has a large resistance.
lll. a galvanometer can give inaccurate values.

The correct reasons are:

(1) landll

(2) llandlll

(3) landlll

@ 1, llandlll

Match the column-l and column-ll

Column | Column 1l

(A) AC generator 1. Eddy current

(B) DC motor 2. Sliprings

(C) Dead beat 3. Split ring
galvanometer

(D) Solenoid 4. Insulated copper

wire wound in the
form of a cylindrical
coil

(1) A-2, B-3,C-2, D-1

(2) A-4B-2,C-1,D-3

(3) A-2,B-3,C-1,D4

4) A-2,B-1,C-3,D-4

49.

50.

- -1
(A) Tl T 1 I IR A I 6
aiar 2
(B) Az Ry & wra 2. YT 9%
o 2
(C) =B IeaeE 3. FWEFEa
D URRENT 418 4. Sl g 31 FE

5. TEME HAX B BRI

(1) A-3,4B-5,C-2,D-1,3

(2) A-1B-2,C-3,D-4

3) A-2,B-5,C-4,D-3

(4) A-3,4B-5,C-2, D-1

2 Ry g wlde ¥ urr & 99 Y 1A @ forg aEnd

) e T T ¥ TS o R S 9T )
e wror )

1. uRETieE S ury @ fore ot S ) fegor 2ar
21

2. HURETH ST IR g9 S916T ST 2 |
3. SYRET e 9 2 Gl 21

(1) 13l

) lzkm

@3) 13RI

@) 1, g

W - | AR T- 11 & gl )

- -1

(A) ACwifa= 1 SR uRE

(B) DCHexX 2. uff a9

(C) ¥ dic urRFTd 3. Taverd g

O Referent 4. YAFHA 9l & AR
H| dTIHR HUSH D

(1) A-2, B-3,C-2, D-1
(2) A-4B-2,C-1,D-3
(3) A-2,B-3,C-1,D-4
(4) A-2,B-1,C-3,D-4
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TOPIC : FULL SYLLABUS (MODEL)

Atomic Masses : H=1, He=4, C=12, N=14, 0=16, Na=23, Mg=24, P=31, $=32, C|=35.5,
K=39, Ca=40, Fe=56, Cu=63.5, Br=80, Ag=108, 1=127, Ba=137, Au=197

SECTION-A

Attempt All 35 Questions

51.

52.

53.

The ionization energy is maximum for :
(M
2)
)
)

=

a

w

3

Q

(4

=

g

Consider the order 0%~ > F-> Na* > Mg?* the correct
statementis :

(1) increasing order of Zeff.
(2) increasing order of .E.
(3) decreasing order of size

(4) increasing order of electron affinity

In case of sp*d hybridisation, if all the g-bonds are | 53.

identical then how many lone pair's must be
present:

(1) Zero

(2) One

(3) Two

(4) Three

Given below are two statements :

Statement I:

The four terminal B-H bonds are three centre two
electron bonds.

Statement Il :

The four terminal Hydrogen atoms and the two
Boron atoms lie in one plane.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect

(2) Statement | is correct but Statement Il is incorrect

(3) Statement | is incorrect but Statement Il is correct
)

(4) Both Statement | and Statement Il are correct.

quE-A
a+ 3597 Afad 21
51. SAE Sl ARy B
(1) Na
@ S
@) C
4 Mg
52. 0% >F>Na'>Mg* & R &9 91 =99 99 2:

(1) Zeff. =T SR #
(2) .E. T NS oA

(3) IR FT IS FH

(4) O SYT F ARE A

sp*d g ¥ AR e o-gnay H 8, A FaR
THTH! I Bl IR

M I=

2) v

(3) &

@) @

ARAFFRTICE

YT I:

IR T IR B-HT= A9 =g Rgdegiy s 8 21

oy Il

IR A IR T AR S T T O A T A
B 21

IRF T o gof A -1 Ry 17 Rreat F 3 waii
o I I 6T 999 DY

(1) T3 | 3R T 1l 39 T 2

(2) T 194 & dfe & 13T 21

(3) T |7erd ® AR e a2

@) Fo | 3R T 1 3 @) B
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56.

57.

58.

59.

60.

and 1 atm, is needed to burn completely 2 L of
propane gas (C H,) measured under the same
conditions :

(1) 6L
@) 5L
(3) 10L
@ 7L

Ethanolic NaCN Re duction

A B

CHg —CH, —Cl

Bis:

(1) CH-CHCN

(2) CHCH,CH,

(8) CH,-CH,-CH,—NH,
)

(4) None of these

Which of the following is least reactive towards | 57.

addition of HBr :
(1) Propene
(2) 2-Methyl butene
(3) But-2-ene
(4) Benzene

A solution is prepared by adding 2 gm of a
substance Ato 18 gm of water. The mass percent
of the solute is :

(1) 5%
2) 25%
3)

@) 20%

10%

The lowest bond order present in :
M o,

(2) He,

@)

@) N,

I I O

2

The solubility of AgCl in 2 M NaCl is
[K,, AgCl=1.8 x10]
(1) 1.8x10°"M (2) 9.0x10-"M

(3) 6.5%10"2M @) 6x10"M

55.

56.

58.

59.

60.

0°C A 9 1 atm 3@ R O, 4 & fhaHT 3 Aa=IF
B < T YRR W 2 L9 &t ster 2

Ethanolic NaCN A Reduction

CHy —CHy -ClI B

B# :

(1) CH,~CHCN

(2) CH,~CH-CH,

(3) CH,~CH,~CH,—NH,
@) = ¥ =S TE

Frafofag 9l & =19 HBr& 9y 999 &9 aneE
Fifrihar 2

(1) 9=

(2) 23 e
(3) -2
(4) ¥

2gmA9erf &t 18 gm vd A FiaM W faege dar
Bhar 21 oot 1 g gl &

(1) 5%
2) 25%

3) 10%

4) 20%

1 % faraer Tueife a8 =9 =
e

@) He,
@) H
(4) N,
2 M NaCI3¥ AgCl Y faeiaar sl :
[K,, AgCI = 1.8 x10-]
(1) 1.8x10""M (2) 9.0x10-" M

(3) 6.5x10-2M (4) 6x10" M
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61.

62.

63.

Given below are two statements :
Statement I:

The more the lattice enthalpy more stable is the
ionic compound.

Statement Il :

The lattice enthalpy is greater for ions of highest
charge and smaller radii.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect

(2) Statement | is correct but Statement Il is incorrect

)
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct.

Compared with alkaline earth metals, the alkali
metals exhibit :

A. Smaller ionic radii

B. greater second ionisation energy
C. high boiling point

D. lower first ionization energies

1) A,BandD

3) Band D

(1)
(2) AandD
(3)
(4) A/B,CandD

The d-orbital involved in sp*d hybridisation is :

(4) dxj—vz and dzz

In a reversible isothermal process, the change in
internal energy is :

(1) positive
(2) negative
(3) Zero

(4) none of these

61.

62.

63.

TR w R

Y I

Fiftren ST et aiftre e st aifes 21
%Y 1l :

Ieadd AT 9l A AR B B & e el
el st s 21

IR FHA & g A - Ry ¢ fAsedl 3§ 3 @@
F IYGET IR H 997 DY -

(1) T | 3R 9 1l 39 g 2

(2) F9 1981 B AT 9 1119 B

(3) FUF |79 & Afeh Fue 11981 2

@) FF | 3R T 1l S R

& oTg, &9 R g i ga R a2
&9 JRHS Far

it fadia s it

Al FHaaih

© 0 m »p

A THHA JRFAA Sl
(1) AB3RD

(2) AFRD

(3) B3RD

4) A, B,C3RD
sp*dGHoT A IufRera & -anfdesr 2

@) d,
(4) dxﬂ,vn and dzz

IJahAviig ST 9fdar & aRe St A aRadq
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65.

66.

67.

68.

69.

0] O

(1) Position Isomers
(2) Chainisomers
(3) Metamers

(4) Both (1)and (3)

IUPAC name of the compound <:>7Eer—CH3 is
éE'HS

(1) N-ethyl-N-methyl cyclohexanecarboxamide
(2) N-ethyl-N-methyl cyclopentanecarboxamide
(3) N-ethyl-N-methyl cyclohexanamide

{(4) None of these

Select the anion which is the weakest conjugate | 67.

base:

(1) Clo,-
(2) Clo,
(3) CIO,
4) Clo

The value of Van der Waals contant ‘a’ for N, and
NH, are 1.5 and 1.5 atm 12 mol-2 respectively. If
these two gases have the same value of constant
‘b’ then under similar conditions :

(1) The pressure exerted by N, gas is more than that
of NH,

(2) The pressure exerted by nitrogen is less than that
of NH,

(3) Both exert equal pressure
(4) None of these

Iif combustion of 4 g of CH, liberates 2.5 kcal of
heat, the heat of combustion of CH, is :

—30 kcal

2.5 keal

(1
(2) —10Kkcal
3)

) b keal

65.

66.

68.

69.

0 0
(1) == S Egar
(2) & FHEa
(3) WA

(4) Both (1)and(3)

T @—N—cm +T LT, 9 BRm:
O

2Hs
(1) N-SFE-NAR SRR e
(2) N-eRE-NAR argaeiN=AEiramEe
(3) N-TRrE-NAT ArgaeRrAmEE
(4) T ¥ FIE T
Frafafee Fome & @i =@ gda 939 &R s
(1) Clo,
(2) Co,
(3) Clo,
(4) cClo-
=X a1 (s ‘@’ & 49 A9 N, v NH, & fore
FII: 1.599 1.5atm 2 mol22 | 9f¢ 29 = A4 &
fore faaes ‘b’ 1 19 @A B A, e e A
(1) N,BR ¥AIEr &7 <@ NH, & Sarer 8Rm
(2) FEGI SR TAIAT AT 1 NH, & &9 2R
(3) 3 & T I AR
(4) I & § TS TE

e 49 CH, & & 9 IoU~T ISAT T A 2.5 keal B
dt CH, 3t <&+ &1 it

(1) =30kcal
2) —10kcal
(3) 2.5kcal
4) -5 kcal
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70. Given below are two statements: one is labelled

71.

72,

73.

as Assertion(A) and the other is labelled as Reason
R).

Assertion(A):

Graphite is a good conductor of heat and electricity.
Reason(R):

Graphite has all the electrons firmly held together
in C—C s-bond.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both (A)and (R) are correct but (R) is not the correct
exaplanation of (A)

(2) (A) is correct but (R) is not correct
(3) (A) is not correct but (R) is correct

(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

What is the correct order of density of llA group :
(1) Be>Mg>Ca>Sr>Ba
(2) Be<Mg<Ca<Sr<Ba
(3) Be>Ca>Mg<Sr<Ba

(4) None
N,’CF  OH
N O A+CI+H0
Ais:

(1) p-Hydroxybenzene

(2) p-Hydroxyazobenzene

(3) p-Aminoazobenzene

(4) None of these
Select the incorrect statement :

a. The common oxidation states exhibited by
group 14 elements are +4 and +3.

b. Carbon and Silicon mostly show +4 oxidation
state.

c. Group 14 oxides in higher oxidation states of
elements are generally less acidic than those
in lower oxidation state.

) a,bandc
) aandb
3) bandc
)

aandc

70.

71.

72.

73.

R & o Re e 3 o & 9 (A) IR #
HROT (R) & &7 A oot fomar @ 21

T (A):
Uhge 51 3R faga &1 F=aT gae 2|
&R (R):

UhISe A O g9 a1 4 C-C o A T 9
B 21

IRFT FYA & gaof A, -1 Ry 19 el § ¥ w0
IIGFT IR DT 997 W :

mgﬁfu\)aﬁr(m@%%ﬁw(maﬂwaﬁ
(A)

(2) (A) 8t B Al (R) &8 =81 8

(3) (A) @& =& & AfFT (R) w8t 2

(4) 2K (A) 3 (R) 7 ¥ 3 (R) Fat =aeianenr 2 (A)

Fraddasa ATt Tl @ FT A 2 -

(1) Be>Mg>Ca>Sr>Ba

(2) Be<Mg<Ca<S8r<Ba

(3) Be>Ca>Mg<Sr<Ba

(4) =g =&
N,’CI  OH

I ascr +H0

A2 :

(1) p-ErEgr afof

(2) pETEgrERIS S

(3) p-gHFIRSIsSi

@) T ¥ TS T

T FU gAY

a. 9B 149 Il 8RNI AT +4 T +3 ARGHTT
Faer YeRia it w21

b. e AT R aftrrar +4 sifafiaor sEer
eiifa @ 21

c. WE14% JAiaEgey A gl A T aifedfier
Fae R 9 T Sirriiaer saer ¥ e
I B 2

(1) a b3itc
(2) a3itb
(3) b3iRc
@) asiR c
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74. Choose the incorrect statement :

75.

76.

77.

a. In diamond each c-atom undergoes sp?
hybridisation.

b. In graphite each layer is composed of planer
hexagonal rings with sp? hybridized c-atom

c. Fullerenes are made by heating of graphite
in an electric arc in presence of inert gases.

d. Max. percentage of carbon is present in
anthracite between diffrent form of coal.

a,b,candd

a,candd

(1)
(2)
)
)

The correct expression of Kp for the equilibrium
XY =X+Yis:

a,bandc
Onlyb

o’ o

(1) Ke=gozxP (@) K=o xP? |
3

@) KP=1°‘a2 %P (4) None |

What is the mole fraction of the soluteina 2.00 m I
aqueous solution :

(1) 1.770
) 0.067
(3) 0.035
@) 0177

Given below are two statements: one is labelled
as Assertion(A) and the other is labelled as Reason

(R).
Assertion (A):

Presence of green plant is essential for greenhouse
effect.

Reason (R):

Chlorophyll of green plants causes greenhouse
effect.

In the light of the above statements, choose the
most appropriate answer from the options given
below:

(1) Both (A)and (R) are correct but (R) is not the correct
exaplanation of (A)

(2) (A)is correct but (R) is not correct
(3) Both (A) and (R) are not correct

(4) Both (A) and (R) are correct and (R} is the correct
explanation of (A)

74.

75.

76.

77.

AT FY H AT :

a. BR ¥ HET BT HWT sp* BT 7

b. AHEe ¥ YT 9 Yehvig Sl Sl 7+ Bl &
Torel 1T 31v] 6T GHT0T spPEiaT @

c. R I Sl e qur kg A9 i JuRerit
¥ twrEe & W w9 [ ST 2

d. TR TR & Figd ¥ ¥ TR ¥ FET 99
gfraraar e=@ wrer s @

(1) a, b, c3itd
2) a cad
(3) a,baRc
) ®aa b

2 T A XY = X+Ya forg K %1 91 ghm:

0(2

o x P?

%P

2) K, =

o
Tor¥P @

2.00 Hiee Sey fFeas A ey & A o1 e
(1) 1.770
(2) 0.067
(3) 0.035
@) 0477

A 2 Fo Re AT T : e @l Y (A) AT F
TR (R) & &7 § wael fhar i@r 21

HYH (A):

Ra 8 79T & fore 2 wier =it SuRRalfy smaws 2

<R (R):

=R Uit &1 TG sRT I8 I 1 FRT ST 2

IRFT T & g F, T Re 1w el 3 ¥ v

IIGFT IR T 997 M :

(1) 39K (A) 3T (R) "8 & afF (R) 98l =awear =it
T (A)

(2) (A) ¥E 2 AR (R) 961 981 B

(3) T (A) 3R (R) =&l 741 21

(4) 3 (A) 3R (R) 7 & 3R (R) 8 Taedianaur & (A)
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78.

79.

80.

81.

82,

IUPAC name of compound is :

i
(j—(lz—czHs
CH,
1) 3-cyclohexylbutane
2
3
(4

(
(2) 2-Phenylbutane

2-cyclohexylbutane

)
)
)
) 3-Phenylbutane

For the system of gases A, B, C and D at
equilibrium A + 2B = C + 3D, the partial pressure
find to be A=0.2 atm, B = 0.4 atm, C = 0.6 atm and
D = 0.8 atm, what is the numerical value of the
equilibrium constant K :

(1) 18.75

(2) 11.25

(3) 9.6

@) 2.7

A body of mass 10 mg is moving with a velocity of

100 m s'. The wavelength of the de-Broglie wave

associated with it would be :
(1) 6.63x107"m (2) 6.63x10%°m
(3) 6.63x10*m (4) 6.63x10%'m

Which is correct order of their pK  value for the
given compounds :

i. CHS ii. OH-

iii. CH,COO- iv. NH

(1) ii=iii=iv>i (2) iizii>iv>i
) iv=ili=ii>i @ diziv=i=>ii

Which of the following statements is/are correct
for alkali metal compounds :

a. Super oxides are diamagnetic in nature

b. The basic strength of hydroxide increases down
the group.

¢. The conductivity of chlorides in their aqueous
solution increases down the group.

d. The basic nature of carbonates in aqueous
solution is due to anionic hydrolysis

) a,bandconly

) a, bonly

3) b, candd only
)

¢ and d only

78.

79.

80.
I

81.

82.

o= it &1 ard g fe . &1 Arr e

i
O—CII—CzHﬁ
CH,
(1) 3AEFARRFEACT
(2) 2T
(3) 2-ATEFARIFA

(4) 3hFEEe

A, B,C9 D9 i¥ig Riesr & Rig A+2B=C +3D,
AT e AT 0.2 atm, B=0.4 atm, C=0.6 atmd
D =0.8 atm, Kpmﬁuaﬁwwﬂ‘shr:

10 mg T arell 95 T 37 100 m s'2 aF Tgat
Sarelt aEed ERt
(1) 6.63x107" m (2) 6.63%x10°°m
(3) 6.63x104m 4) 6.63x10%'m
FrefaRaa AR & 3% pK, a9 =1 98 F9 80 :
i. CH/ ii. OH-

iii. CH,COO iv. NH-

(1) ii>iii >iv > (@) idi>ii>iv>i

@3) v > i > ii > | @) i >iv>i>ii
1 3 A =l W @y urg aife & ford i 2
a. Wmm@ﬁg

b. IW I M 9 R Tt A eggiadEs &t aREar
gl Wil 8

c. ¥ R 9 R TS ) Al 39D Sk
faog & ¢ ot 2

d. T T & T TN SIFehtuT & HRIT
Blar 2

(1) a bdcHhad
@) a, bwhaw
3) b, caddad
4) cadsad
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83.

84.

85.

Assuming the atomic weight of a metal M to be
56, find the molecular formula of its oxide
containing 84 % of M.

(1) M0,
(2) M,0,
(3) MO
(4) None of these

Quantum number of five electrons are given
below. Arrange them in the order of increasing
energies :

a. n=4,1=2, m=-2,s=-1/2

b. n=3,I1=2,m=1,s=+1/2

c. n=41=1,m=0,s=+1/2

d n=3,I=2,m=-2,s=-1/2
e. n=3, =1, m==-1,s= +1/2
(1) e<b=d<c<a

(2) e>b=d>c>a

(3) e>b=d<c<a

(4) e<b<d<c<a

The mass of Ca0 that shall be obtained by heating I 85.

25 kg of 60% pure lime stone is:
(1) 8.4 x103gm
(3) 8.4 x102gm

(2) 1.80 x10° gm
(4) 8.96x103gm
SECTION-B

This section will have 15 questions. Candidate can
choose to attempt any 10 questions out of these 15
questions. In case if candidate attempts more than
10 questions, first 10 attempted questions will be
considered for marking.

86.

Given below are two statements :
Statement I:

The enthalpy change for a reaction does not
depend upon the number of intermediate reaction
steps.

Statement Il :

The enthalpy change for a reaction does not
depend upon the difference in initial or final
temperatures of involved substances.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
@
@)
)

Statement | is correct but Statement |l is incorrect

Statement | is incorrect but Statement Il is correct

Both Statement | and Statement |l are correct.

83.

T T I ITY] WK 562 A T4 AVES A9 BA
s s A M84 %3 -

(1 M0,

(2) M0,

(3) MO

(4) T & i E

5 FRlFC 3 FEveT e R & 1 2 T aed
53 ol @ @9 A ARy W :

a. n=4,1=2, m=-2,s=-1/2
n=3I=2m=1,s=+1/2
n=4,I=1,m=0,s=+1/2
n=3,1=2,m=-2,s=-1/2

. n=3,1=1,m=-1,s= +1/2

© o o o

(1) e<b=d<c<a
(2 e>b=d>c>a
(3) e>bh=d<c<a
(4) e<b<d<c<a
25 fohell 60 I € AT TeoR &l T/ & W I
219 a1 CaO &1 A 240 -
(1) 8.4 x103gm (2) 1.80 x103 gm
(3) 8.4x103gm (4) 8.96x10%gm
Hus-B

T @ve A 1575 71 q0emdl 39 157 4 @ @l
1093 X Ihar 21 IR Qarit 109 st v\ =1
IR a1 2 A 5 Y g% v 109% € A= B

86.

YA L

o s & fore et & aRads Pk @ @ 2
TeATd! AHHAT Y& H w1 W

wYA Il

o ik & e geiedt A qRad+ Felcas a2
I T2l B IR SR Afr a9 P F=R R

IR FF D g ¥ 1 e 7w el § 3 waif
& JYFT IR H 99 DI

(1) & | 3R o 1l 2 o B

(2) o 198 € AT 9 1T 21

(3) FU |7 § AT Y |IEE 7

@) T3 | 3 o 1 4 | B
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87.

88.

89.

90.

91.

Arrange decreasing order of bond angle in PCLF,

a. /FPF b. ,CIPF
c. /CIPCI
(1

)
@
)
)

a»c>b
c>a=>b
(3) a»b=>c
(4) None of these

Correct order of resonance energy for :

a. thiophene

b. Pyrrole

c. Furon

(1) c>b>a

(2) b>c>a |
(3) b>a>c

4 a>b>c |

Atoms of element B forms hcp lattice and those of
element A occupy 2/3 rd of tetrahedral voids. |
Formula of the compound formed by elements A
andBis:

(1) AB,
2) AB
(3) AB
(4) AB

The molecules that will have zero dipole moment is/
are :

M
@
)
)

trans-2-pentene
cis-3-hexene

(3) trans-3-hexene
(4) both1and2

Pauling’s electronegativity scale is based on
experimental values of :

M
2
@)

)

Atomic radii
Bond energies
Bond lengths

(4) Electron affinity

87.

88.

89.

90.

91.

PCLF, & =M FIV & Hcd M Sl HaRud & ¢
a. /FPF b. /CIPF
c. /CIPC

(M a»c>b

() c>a>b

@) a>b>c

4) T A FE 78

SIS Tl ol W FAE

a. PaEmE

b. A«

(1) c>b>a

2 b>c>a

3y b>a>c

@) azb>c

99 B & YOM3 ¥ hop WS ST 2 3R 9T AR
@] 2/3 Igehed Rl i s 21 AT Bal
ENECEE CE DL e R

) AB,
(2) AB,
(3) AB,
@) AB
1 % 3 Tone 3 @ e 3= ey gt @
1) TE-29<H
@) fg-32==
3) gE-33HIM
@) 192

arafeiT frega=rviers T e waifie 9 W) Rl
A

(1) ey v
(2) s==1 Zol

3) I wEE
(4) FeAFCH TR
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922.

93.

94,

95.

The two isomers given below :

COH COH
H——OH H——O0H
HO neoand oy OH
COH COH
(1) Enantiomers
(2) Diastereomers
(3) Mesomers

(4) Positional isomers

The common features among the species CN-, CO
and NO* are :

(1) Bond order three and isoelectronic
(2) Bond order three and weak field ligands
(3) Bond order two and m-acceptors

(4) Isoelectronic and weak field ligands

Which of the following resonance structure is the | 94.

major contributor of the resonnance hybrid

CH, — CHZ?H ~0Q—CH, <»CH, —CH, —CH :ECHa
(1} (1)

(Ml

@

(3) Both have equal contribution

(4) they are not resonance structure

In the following reaction :

epl Br

St Step I1
(CH3)2CHC = CH = oy cH-C=CH, >

=

Br
|
(CH;3);CH-CH-CH,Br

Which of the following sets of reagents can be used
for step | and step Il ?

Step | Step Il
1. HBr HBr and peroxide
2. HBr and peroxide HBr
3. Br; HBr
4. Brp HBr and peroxide

Select the correct answer using the codes given
below

(1) 1,2and 4
(3) 3and4

(2) 2and4
4) 1alone

92,

93.

95.

< e A g W 2

COH COH

H———OH H———OH
wo——n ™yl on

COH COH
(1) il 4
(2) srEEiRamE
(3) AR
(4) = |HETar
CN-, CO 3t NO* ¥ |# 7o &l :
(1) T Fife 9 3k TR
2) T FfE @ 3R HA fohes o=
(3) = FIfE 3 AR 7
(4) = i g fihee wioeg
e & @ &l @ A 9 99 e Ra
EF\Fﬂﬂ'HﬁFﬂg
CH, —CHfH—@'}—CHa <>CH, —CH, —CH =3CH3

() (n

(1)1
@l

(3) 3 W
(@) &t I wEAT R B
Fiffa & -

Br
Step 1 Step 11
(CH3),CHC = CH —— (cu,) cu-C=-cH, o>

Br
|
(CH,3),CH-CH-CH,Br

=1 o 3 =5l 1 Sl 92 13 9T 119 9@ B
2:

g | Ll
1. HBr HBr 3R JEiiags
2. HBr 3R R3fFEEE  HBr
3. Br, HBr
4. Br HBr 3R YXaiTaage
I ST § ¥ G I BT 99T FiE
(1) 1,23 4 2) 234
(3) 334 (4) ae 1
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96.

97.

98.

99,

100.

OH

@ NaOH A i. COp
i H"
Bis:
ONa ONa
(1) © 2)
OH
COOH
(3) (4) None of these

In the reaction

Hg50, X
Hy 50,

CH= CH
Zis:

LiAIH, Y Br, ye
ra
NaOH ’

(1) Ethylidene bromide

(2) Bromoform

(3) Ethylene dibromide

(4) Ethanoyl bromide

Pure hydrogen is obtained by :
(1) by action of water on NaH

(2) Uyeno’s method

(3) Mg +H,SO,(pure, dil.) —»

(4) All of these

Which of the following has the lowest

nucleophilicity :
() F

{(2) OH-
(3) CH,;
(4)NH,

Diborane is produced on an industrial scale by
the reaction of BF, with :

(1) LiAH,
(2) NaH
(3) NaBH,

(4) LiOH

96.

97.

98.

99.

100.

OH

@ NaOH A

B® :

ONa

i.COy
i. HY

ONa

OH

COOH
(3)

(@) T & 1 8

e s &

HEsOs oy
H,50,

LiAlH, Y Br,
NaDH

CH= CH

Z7hm :

(1) TaTEeREH SHTgE

(2) S

(3) wUEfer SrEAES

(4) FAIgE ATES

€ BIFSIoF $ Y 9red B
(1) NaH & st & sififsrar 2
(2) g fafer

(3) Mg +H,SO,(T=, I7) —>
(4) 0T w R

e 9 et i f=Eiar & B
M F

rZ,

(2) OH

(3) CH,

(4)NH,-

e R W ARk s9H & R BF, 3 fomnr
fFad g 2

(1) LiAH,

(2) NeH

(3) NaBH,

(4) LiOH
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TOPIC : FULL SYLLABUS (MODEL)

PART-1(SECTION-A)

Attempt All 35 Questions

101. Given below are two statements

Statement |I:

In Human Breathing involves two stages : Inspiration
and Transpiration.

Statement Il :
External Intercostal muscles involved in Breathing.

Choose the correct answer from the option given
below:

(1
(2
(3
@)

) Both Statement | and Statement Il are incorrect

) Statement | is correct but Statement I is incorrect
)} Statement | is incorrect but Statement |l is correct
)

Both Statement | and Statement Il are correct

102. Given below are two statements

Statement I

The complete double circulation present in human
Statement Il :

The incomplete double circulation present in frog.

Choose the correct answer from the option given
below:
(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
3)

)

4

Statement | is incorrect but Statement Il is correct

Both Statement | and Statement Il are correct

103. Given below are two statements

Statement |:

Ammonia is the most toxic form and requires large
amount of water for its elimination.

Statement Il :

Many reptiles, terrrestrial insects and many bony fishes
are ammonotelic.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect

(2) Statement | is correct but Statement Il is incorrect

(3) Statement | is incorrect but Statement Il is correct
)

(4) Both Statement | and Statement Il are correct

A1 (EUE-A)
oof 3599 afad 2
101. R Ry Fo e
Y -1

102.

103.

A T3G 3 3 TROT AT ¢ 3T ST AT
YA -l:

T FRYE VI TG A T o 2
1 Ry fawed) ¥ @ 96 I T

(1) =FF FoF | 3R = 11T 21

2) F¥F |98 g F9 119w 2

(3) T |9 2 9 FuA [IEE 21

@) T F | IR T |IEE 2
RRewdFFe:

Y -1

ol S8 qREERoT 9 AT F 9T S 2
Y -l

T AET IRERT T Aeh | I W 2
R Re e ¥ ¥ 96 I T

(1) 3 T4 13K o 117 21

(2) FYF 198 9g & U |19 =

(3) FF 17T 2 W U 1 2

@) 3 FF | IR T 1EE B
MRe WA FuTe

«yq -1:

sfear gaife e 2 o gue Fesmq & o
S DE Al EESE

w Y -1l

7T ¥ 09T, S Fe IR TwT A Jyw Tl
I e 21

W o fawmedl ¥ & @ It

(1) 39 FF 1 3R T 119 2

2) FUF 198 9% FUA 1179 B

(3) FF 17T B T FUA IR B
(4) B FUF | K FUF 1T 2
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106. Given below are two statements : one is labelled

w are two statements
Statement [:

Movement of our limbs, Jaws Tongue etc require
muscular movement.

Statement Il :

Locomotion requires a perfect coordinated activity of
muscular, skeletal and neural system.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement |is correct but Statement Il is incorrect

(3) Statement |is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

105. Given below are two statements

Statement I:

Skeletal muscles are closely associated with skeletal
components of the body. |

Statement Il :

Visceral muscles are located in the innerwalls of hollow
visceral organs of the body like the alimentary canal,
reproductive tract etc.

Choose the correct answer from the option given
below:

(1) Both Statement | and Statement Il are incorrect
(2) Statement lis correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct

as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A):

In five kingdom classification Chlorella and
Chlamydomonas are placed in kingdom protista

Reason (R):

Chlorella and Chlamydomonas are unicellular
eukaryotes.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(2) (A)is correct but (R) is not correct
(3) (A)is not correct but (R) is correct

(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

104. R RE T T T :

105.

106.

Yq -1:

TR R, SR SR S e & ey & fore adhe ofy
HTETH 2|

Sy -l

e & forg Ueil, Ferre 3 afeeRt o 91 qul aeieae
Toran = SRR B 2

4 Ry Fwed ¥ A @8 I g

(1) 39 o | 3R FY 1T 2

2) FF 198 g FE 11T 2

(3) T |79 7 TR U G R

(4) 9 U | X FUT 1G9 7

TR FET:

HYA -1
gﬁaﬁﬁmﬁ%ﬂaaﬁ%ﬁwwﬁﬁ
|

Y -1l

G ST R F Qe 0 9 - SIERAN, W
AAT 3fE = N e ¥ o 2 2

3 Ry et F @ €6 o o

(1) 29 99 | 3R 97 1179 21

2) F¥F |1E8 9T FUF 9 7

(3) T |79 7 TR FU 19 R

(4) 2R U | K T a2

Frfeiaa < w99 Re v 2, v Ay (A) 9 Jil
T IR (R)  d¥ee 3

AR (A):

Y9 S Tt 9efy ¥ TR IR FSEHEN
qifeweT frmew & @ W 2

&R (R):
FART R FAFTEERNAE TR aRalcy 21

I FY & el A 8 999 9, i Ry e

Tt & wd IR g

(1) (A) 3R (R) S @& ? f (R) 4l =ran 781 2
(A) FT

) (A)=EE ? AR (R) 9T &

(3) (A)TeId ® A (R)9el 2

(4) (A) 3R (R)TMY w8 2 31T (R) @) =reean & (A)
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107. Which is a correct match :

(1) Glandular epithelium —  Tendon

(2) Exocrine gland —  Without duct

(3) Endocrine gland —  With duct

(4) Connective tissue — Linking and support-
ing function

108. Which is the correct statement regarding cockroach:

(a) Hepatic caeca are 6-8 in number and help in

reproduction
(b) Gizzard is also called as gonapophysis
(c) Hindgut is narrower than midgut
(d) Spiracles help in respiration
(1) a&b
(2 b&ec
(3) c,d
(4) Onlyd

109. The plant order polymoniales includes which

plants :
(1) Potato
(2) Petunia
(3) Datura
@ Al

110. Given below are two statements : one is labelled

as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A):

Members of chondrichthyes swim constantly to
avoid sinking.

Reason (R):

In members of chondrichthyes air bladder absent.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(2) (A)is correct but (R) is not correct
(3) (A)is not correct but (R) is correct

(4) Both (A)and (R) are correct and (R) is the correct
explanation of (A)

107. 771 & @ =9 @ 99 FeTa @

Ok B ERcEET - HU

(2) afe=amEr o~ - aRFEER

(3) A =& Ui - aRH g

(4) GGt Saw — TS T e

F

108. AT R TIU A HT I FATIH 2 :

(a) I AT G A 6-8 BN B AR T A
gl FLdl @

(b) Iuoft = MATFRRE ot T &

(c) I¥F AT AAHT ¥ TR BI &

(d) TTEHed Y99 A WEHgAT ST 8

(1) asfitb

2) bac

3) ¢c,d

4) F9a1 d

(
(

| 109. 9ISY AT G- & A=l D4 4 96T 3 2:

(1) 3L
(2) Torgfar
(3) &gq
(4) =

110. Fr=ifaiRad < woe Ry v 3, v Ay (A) 3 3k

T FRT (R) ¥ daes 2

FREIT (A):

FIPI P 9689 39 4 9949 B o0 9IRS

w2

HR (R):

FiIder & gel F agwy i st 21

I HYEl @ Al A € 99 A, N Ry g

fawredt o @ I A

(1) T A 3R R¥E # 3R R, A &7 981 =g A8
FT B

(2) AWEl 2 T] R&E 5 &

(3) A 98 T8l & 9og R&H

(4) 3 A 3R REE % 3R R, A Y &) = el 21
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111.

112.

113.

114.

115.

Which is a correct matching set :

Columnll
(a) Digestive system with
one opening
(b) Digestive system with
two opening
()
(d)
M
)
(3)
{(4) a-i, b-ii, c-iii, d-iv
Match the following

Closed vascular system
Open vascular system
a-iii, b-iv, c-ii, d-i
a-iv, b-iii, c-ii, d-i

a-ii, b-iv, c-iii, d-i

Polyadelphous i.

a.
b. Epipetalous ii..

a o

(1
(2
3

a-ii, b-i, c-iii, d-iv

a-i, b-ii, c-iii, d-iv

—

a-iv, b-ii, c-iii, d-i

)
)
)
)

(4) a-ii, b-iv, c-iii, d-i

Epiphyllous iii.

Perigynous iv.

Column Il

(i) Sinuses

(ii) Blood vessels

(iii) Incomplete
(iv) Complete

Brinjal
Citrus
Lily

Peach

In which of the following plants Bisexual flower

present :

(1) Mustard
(2) Soyabean
(3) Belladona
(4) All

Which of the following pair is correctly matched

(1) Squamous =
epithelium
Cuboidal =
epithelium
Ciliated =
epithelium

Both 1 and 2

2)

(3)

)

Ducts of glands

Blood vessels and
air sacs of lungs.

Bronchioles and

fallopian tubes

Out of the four components of xylem which

components are living :
(1) Companion cell

(2)
(3)
(4)

Xylem fiber
Xylem parenchyma

All

1M1, e o 9 gaifea 2 -
4 - |
() ¥ ER g TG A
(b) 2 BR g WEFAA
(c) o< IRE=RoT a7
(d) o 9Rg=wT 94
Q0
)
3)
@)
112. = =) gifera Al
a. el ehy
b. viieeE
c. ilftheea
d. 9dmzE

(1) a-ii, b-i, c-iii, d-iv

a-iii, b-iv, c-ii, d-i
a-iv, b-iii, c-ii, d-i
a-ii, b-iv, c-iii, d-i

a-i, b-ii, c-iii, d-iv

(2) a-i, brii, c-iii, d-iv
@) aiv, bii, cii, d-i
@) aii, b-iv, ciii, d-i

g4 -1
(i) W
(ii) = FfRET
(iii) Frqor
(iv) ot

ii. A

iii. ol
iv. G=1

113. f=fafea & @ fra da & RieR qor SuRe 21

(1) ==&
(2) A
(3) IR
@) =¥

14. Fr=fafaa ¥ 3 w9 3 g9 *1 Fam 98 @

(1) ==Y I9el
(2) TFIFR el

(3) geasit IUehel

(@) 1 3K 2 <A

- T Y afRFE

— T TR T
TS B IR

- g T Raarfeat
ferenr

115. WIEeM & R 3999 ¥ ¥ Fi 91 7999 99 21

(1) FE=R FfRre
(2) Sge™ ag

(3) irger WevehrgAl
(4) =i
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116. The hypodermis in monocot stem are made up
of:

M
2
@)
@)

Collenchyma
Sclerenchyma
Parenchyma

Cuticle

117. Which is the correct statement about mutualism :

M

One species is harmed and other is unaffected

@

Both species are benefitted
(3) One species in benefitted and other is neither
benefitted nor harmed

(4) One species is harmed and other is partially
benefitted.

118. In hydrarch succession the Pioneers are :

(1) Marsh-meadow

(2) Reed swamp

(3) Rooted submerged plants
(4) Phytoplankton

119. For upgradation of quality of vehicle engines

which term are used :
(1) Bharat stage
(2) Engine stage
(3) Vehicle stage

(4) Critical stage

120. In a population, unrestricted reproductive capacity

is called as :
M
2
)
)

Biotic potential
Immigration

3
4

Carrying capacity
Both (2) and (3)

116. BEI=IE CFEwAl a1 & o+t Bkt 21
(1) ieieRrgam
(2) TFIERIEAT
(3) FeTeRTE
() FfeTa

17. GEIUFHIRG B IR F T 91 T3 981 2

(1) o golfa =l THAM B 2 U9 qEq oifad @A
2

(2) I geufy A 2 8

(3) T Yol WA B & T T8Y I T A BT ®
= 9 B

(4) v yofy I THEE BT 8 3R T8 N T ¥
e B 2

St argsnaror A rEfaad B 2

| 18.
(1) @ MEd T
(2) H I T
(3) TS AT T WTeT
(4) FrEEr=he

T D FoF T IVETr D GUR FE & Tog frg =
=1 991 f¥Rar wirr 2

119.

(1) ¥RT B
() = '
(3) IeFa B
@) Tl =

HaE ¥ gfaseus 9 999 9 weanl 2
(1) Sawit &mFar
(2) 3mgmEmEd

120.

(3) TI9OT T
@) (2)3iR (3)H
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121.

122.

123.

Given below are two statements :

Statement I:

The product of ecosystem processes are hamed
as ecosystem services.

Statement Il :

Phosphorus is a major constituent of biological
membranes, nucleic acid and cellular energy
transfer systems.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement Il are correct.
Given below are two statements :

Statement |:

The ethical argument for conserving biodiversity
relates to what we owe to millions of plant, animal
and microbe species with whom we share this
planet.

Statement Il :

Philosphically or spiritually, we need to realise that
every species has an Intrinsic value, even if it may
not be of current or any economic value to us.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement |l is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement |l are correct.

Which type of ecological pyramid would be
obtained with the following data —

Secondary consumer - 2500 Jule
Primary consumer — 4500 Jule
Primary producer — 5000 Jule
Tertiary consumer — 1000 Jule

(1) Upright pyramid of energy
(2) Inverted pyramid of energy
(3) Upright pyramid of number
(4) This pyramid is not possible.

121.

122

123.

RAFAReIE:

Sy I

qiRa—= fehar & RN S ke Ja¢ B A ¥ ST
EIC |

S

wTeRRE e fafeaal, <ais o T SN
ol TIFTIRYT TN o T I9E 9¢F 2 |

IRF FeFl & g A IR Ry 719 Rewet ¥ 3 w@iy
& IYGFT IR HT 95 Hile

(1) T | 3R o 1 341 T B

(2) T |91 2 AfFT w1 TeT 2

(3) T |7 & AR U |1EE )

(4) T | 3R Fo 1 39 |d §
RAFFRTIE:

T 1

o fafear g & Afvw a9 w1 R R 3w W
Iaftud S arEll Wi, 19T 9 genne wifoal @ 2,
o w1 @ R

Y Il:

TS 9 reAfors 7 3 & g8 9EE 9 aEEar
2 T v% sl &1 ST Aorred Biar 2, o & 3ue
TR e a1 ar i e =1 &

IRFT FyEl @ 9] ¥ R Ry v fwen ¥ @
AT ITgFd I H 94 I

(1) ®¥= | 3R F9= 1l A 7o B

(2) w198 & AT o 11T 21

(3) FU |7 § wifeheT U |1EE B

(4) =¥ | 3R T 13 |E B

fore yaR &1 ffaie Twfofae srer & e ara

e Iustier - 2500 9@
R SeiERT - 4500 e
I SRS - 5000 e
el STiET - 1000 &
(1) wit = 4ren fRfe
(2) St o1 Ieel fRfie
(3) @ =1 4 fRfiE

(4) T e awE =8 2
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124,

125.

126.

127.

A Individual has certain attributes. This attributes
are :

a. Death

b. Birth

c. Death rate

d. Birth rate

e. Sex ratio

a,b

c,d, e

Onlye

Onlyc,d

Dobson units measures :
(1) Rate of disintegration of O,
(2) Quality of ozone

(3) Thickness of ozone

{(4) Rate of UV radiaticn falling on ozone

Given below are two statements :
Statement | :

Algal blooms cause deterioration of the water
quality.

Statement Il :

Microorganism involved in biodegradation of
organic matter in the receiving water body
consume a lot of oxygen and as result there is a
sharp decline in dissolved oxygen downstream
from the point of sewage discharge.

Choose the correct answer from the options given
below

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
{(4) Both, Statement | and Il Statement are correct
According to the IUCN List (2004} document of the

extinction of plants species has been:

124.

125.

126.

127.

T AfR o U @ 21 g8 AU R
@ 99

(b) ST

(¢) N

(d) S~

(e) Forr srgarar

(1) ab

(2) c,d, e

(3) &ad e

4) Fad c, d

3aa YT Aqar @

(1) O, famesT &t = Y #iqan 3

(2) ST T Forereet

(3) i Y Herd

(4) 3 W UV iafrr & i i =

R FFE:

Y -1:

FaTel TOREST B BRI We Sl Ul HT W 3
YA -l

APEE waEE & o9 Rl @ o FElwer @ §©
ol ATFAINF St HTH) AET BT I Hd 2 )

TWH @H aifed 7 faael= ®F ol (315 ')
I A il S A AET F Joh 3 Frae ol 21

9 Ry Fwen ¥ ¥ 98 I
(1) 29 F 13K F 1T R
2) FoF 198 9% F9 1 e 2
(3) FUF |79 B T Fu 198 =
(@) B YT | AR T NEE R
IUCN forer (2004) @ TG & @R _ @Y
wnfear fag g4

(1) 784

@) 270

@) 87

4) >4
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128. The Evil Quartet term are related with :
(1) Over exploitation
(2) Coextinction

(3) Habitat loss and fragmentation

4 Al
129. The pectoral girdle consists of :
(1) Two scapula and one clavicle
(2) Two scapula and two clavicle
(3) One scapula and two clavicle
(4) One scapula and one clavicle
130. Which one of the following is incorrect match :
(1) Male human — Vasectomy
(2) Female human —  Tubectomy
(3) ZIFT,GIFT - ART
(4) Noneofthese
131. How many matching are correct:
Columnl Column I
(a) Non-medicated IUDs —Progestasert
(b) CopperreleasinglUDs - Lippes loop
(c) Hormone releasing — Multiload 375
IUDs
(d) UDs —Emergency
contraceptives
(1) 4
@ 3
@) 2
@) 1
132. The exaggerated response of the immune system
to certain antigens present in the environment is
called
(1) Immunity
(2) Passive immunity

)
(3) Innate immunity
)

(4) Allergy

128. G AFHI = fhed wrafeg 2

(1) & e

(2) wfaggeer

(3) smari afa 3k faavea
4) =7

129. 39 AEar e B ©

(1) & SR 3K o Rl
(2) 2 whyen AR 3 FAF

(3) U ThYAT AR < FAEHA
(4) v TYE AR UF Folfama

130. for=ferfa 3 3 ate A s SR 2

(1) R FH —  dREEE

(2) W FE — TR

3) ZIFT,GIFT — ART

(@) = &

| 131. Fral Srqedan adt 2

@Y - |-

(a) siafr ®RaIUDs - U

(b) ®rR Relifsir IUDs - forea o9

(c) wFiT Refforr - AE375
IUDs

(d) IUDs - T T PR

(1) 4

@ 3

@) 2

@ 1

132. WaieReT ¥ WivE £ TheE & 9y giower @ @

FiferTora fafsrar &t Fed 2
(1) wfeeen

(2) Ffeswar gfewrer

(3) wew ufawen

(@) Yn
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133.

134.

135.

How many matching are correct

a. Tympanic membrane - Internal Ear
b. Malleus, Stapes — Middle Ear
c. Reissner's membrane - Internal Ear

d. Otolith
M
@
@)
@)
Satellite DNA is important because it:

M

— External Ear

Three

Four

One

Two

Does not code for proteins and is same in all

members of the population
@
©)
@)

Codes for enzymes needed for DNA replication |
Code for proteins needed in cell cycle

Shows high degree of polymorphism in population l
and also the same degree of polymorphism in an

individual, which is heritable from parents to
children

Which is the correct statement for prokaryotic

genetic material :

(1) Both DNA and histones present
(2) Either DNA or histone

(3) Both DNA and histone absent

(4) DNA but no histones
PART-1(SECTION-B)

This section will have 15 questions. Candidate can
choose to attempt any 10 question out of these 15
question. In case if candiate attempts more than
10 question, first 10 attempted question will be
considered for marking.

136.

Some amino acids are coded by more than one

codon hence the code is :
(1) Unambiguous

(2) Degenerate

(3) Universal

(4) Non-overlapping

133.

134.

135.

ol Sreaar 981 2@

a. Fvige B - F
b. Aferra, Ve - w7 Ff
c. UZvAY fareell - Fa: &l
d. Frafr - 3y &l
(1) 9=
(2) I”
@) =
@ =
dearze Sve Teal i B HifE

(1) TRE IIE T I TE AT © N SEE g
Ho=l § A B 8

(2) Y WASIF P ol STEEE A RS
FT =

(3) wiam =R A AT G FI FIS Tl B

(4) Ve ¥ e Ao S ageer fewmEr @ 9 S
% IEeTE v i ¥ R 2 St A fer @ s
¥ FAE B

= 7 @ fRRAAS Al =l & e @l @

YT ET §

(1) =1 Sieme 3K fRee 3ufead 8 &

(2) o Sreme ar e Il BT 7

(3) I oY 3K R st B

(4) Stomg e RBeee w9t

HRT-1 (EvE-B)

T Eve A 1575 71 708l 3 157 9 @ 6l of
10 9% & hdl 21 4T qdeEmdt 109 aftrs gz &1
IR T 2 @ 7 6 g0 TU 1099 & W= B

136.

HT WA A F ¥ IRF FEE ¥ T B 2,
e #is a3

(1) srafarer
(2) =
(3) aEndifaE

4) |
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137. In E. coli, during lactose metabolism, in absence

of inducer, repressor protein binds to :
(1) Regulatorgene

(2) Operator

(3) Structural gene

(4) Promoter

138. Which of the following is not a nucleoside
(1) Adenosine
(2) Deoxyguanosine
(3) Deoxythymidine
(4) Cytidylate
139. In the given figure identify A and B and also iden-
tify the process :
3 5
5’ 3
A
- = 3
B
(1) A-RNA polymerase, B-Rho factor & process is
Initiation
(2) A-RNA polymerase, B-Rho factor & process is
Termination
(3) A-RNA polymerase, B-Sigma factor & process is
Initiation
(4) A-RNA polymerase, B-Sigma factor & process is
Termination
140. Assertion (A) : Bt toxin protein does not kill the

Bacillus bacteria.

Reasons (R) : In Bacillus bacteria Bt toxin protein

exist as inactive protoxins.

(1) Both (A) and (R) are true but (R) is not the correct

explanation of (A)
(2) (A)is true but (R) is false
(3) (A)is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct

explanation of (A)

137. S0 wiarg ¥ T A ARy F A Aemifersr @
T SRR N fhed sear 2

(4) yAliex
138. Frfafaa % 3 =19 v& gaenaraEs 14 2
(1) vERR
2) ST
(3) SRS
(4) FEIEIT

139. oY A R ¥ A 3 B &1 off 7o R ol g
sfaRea 39 vishar i ve=9 -

3 5’
A
/o (B
(1) A-RNATRIRS, B- T wRa 3R 9firar IF 2
(2) A-RNA TGS, B sieh 31X 9fshar 919 2
(3) A-RNA TGS, B ek 3k gfehar yRve &
(4) A-RNATRIRIGST, B- v s 3w gfthar s 2

140. T (A) : Bt<iig Ry 9idH S¥bied Siamg 1 <780 arar

3

TR (R) : 3diw@ sfarg 3 Bt siia Ry 91w g

el 3 &7 ¥ siar 21

(1) (A) 3T (R) 3l w8 & AfFT (R) & =awer 181 &
(A) T

() (A)wé g AfFT (R) o &

(3) (A)7ea 2 AT (R)@et 2

(4) (A) 3R (R) I &8t 2 3K (R) e =mean & (A) T
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141. Which one of the following is the correct match: | 141. Fr=ifaRaa o | =6l 49 s 9t 2
(1) PCR —  Invitro DNA synthesis (1) PCR _ 9y DNAGET
(2) Selectable marker - Antibiotics Resistance
gene (2) =T A o —  yftelfae afe siA
(3) Bacteria —  Thermus aquaticus (3) wam - 9¥q e
(4) All of these (4) =%
142. How many matching are correct : 142. fralt aﬂ-{;qmaaé:
(a) Molecular Glue — DNALigase (a) SV Me - DNAWEW
(b) Molecular Glue — DNA polymerase (b) 3o Me — DNAYRIRS
(c) Molecularscissors — DNA polymerase (c) T ] — DNAYTRIRRS
(d) Molecular Glue — RNA polymerase (d) T Me — RNATYIRRS
M 2 (1) 2
@ 3 @ 3
3) 4 @) 4
@) 1 | @) 1
143. How many matching are correct : 143. fRaIt STRTar 981 z:
(a) Natural Genetic - E.coli ! (a) wrEl® salen - So@larE
Engineer | slRmar
(b) Natural Genetic — Salmonella typhi (b) WrHRIH alﬁﬂﬁlﬂ? L 5
Engineer FlEar
(c) Plasmid — Extrachromosomal (c) reriE _ W% FfRaT
BHA DNA
(d) Acidic pH — Required for (d) 3T pH - BtWg Ry = 9fag
activation of 9 2 Riv saTas
Bt Toxin
(1) Three (1)
(2) Four (&) =
(3) Two ®) =
(4) One @ =
144, How many matching are correct : 144. el ey €€l 8
(a) ELi Lilly - British company (a) @il foredt - fafew =9t
(b) ELi Lilly — Formation of Human (b) @it ferelt - W i o1 et
insulin (c) I - - C-YwrE
(c) Pro-Insulin — C - Peptide (d) glq,—_g:gﬁq - B-UwrEE
(d) Pro-Insulin — B - Peptide (1) &
(1) Three
(2) =T
(2) Four
(3) Two @ =
(@) One () &=
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145.

146.

147.

Statement -I- Animals that have had their DNA
manipulated to posses and express an extra

(foreign) gene are known as transgenic animals.

Statement-ll-Presence of pathogen (bacteria, vi-
ruses etc) is normally suspected only when the
pathogen has produced a disease symptom.

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct
(4) Both Statement | and Statement |l are correct
Given below are two statements :

Statement I:

In Downstram processing strict quality control
testing for each product is also required.
Statement Il :

The downstream processing and Quality control
testing vary from product to product.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statement | is correct but Statement Il is incorrect

(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement Il are correct.

Given below are two statements :

Statement I:

Restriction endonucleases are used in genetic
engineering to Form recombinant molecules of
DNA, which are composed of DNA from different
sources/genomes

Statement Il :

When cut by the same restriction enzyme, the
resultant DNA fragments have the same Kind of
sticky-ends and these can be joined together (end
to end) using DNA ligases.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both Statement | and Statement Il are incorrect
(2) Statement |is correct but Statement Il is incorrect
(3) Statement | is incorrect but Statement Il is correct

(4) Both Statement | and Statement |l are correct.

145.

146.

147.

Ty -- 38 Sga oF® DNA Y qRareH /1 o
sfaRa (arslt) si= =raltyd sar 21 Wit J9=T @&
o HET 21 I¥ TR S Fed 21

ol AT (ST, Ry 3R ) ) SuruRy @&
M 99 Y41 =el 8 | o 399 8N 39~ AT &
e fowrs 2 W 21

(1) w2 | 3R o 1| 2 aeT

(2) F°F 19 & AT o |1 39 &

(3) FU | 38T 2 AP FUT IlF B

@) T 13 FY 1l I g &

A FERewe:

YA |

FIYATE GArEH A AP I o fore ghf¥ad JoEr
=T 7Qzor <% +ff sEEEEar B 21

Y Il :

ATIAE AU T IE Fra=aor 1devr 1@ SR
& forg P - e 21

IRFT FF D g F 0 Ry 17 Rpeal F 3 waifer
& I IO T 999 FIIT -

(1) &Y | AR F9 1l 2 o1 21

(2) FF 198 B AP T 117 2

(3) T | 7T ® T YT |1EE B

@) F3 | 3R o 1 39 |8 B
"ﬂ%?«;\ﬂi’ﬁﬁ?w%

YA I

et QURRERITS S ITEINT SaRE eiiaRT
A DNAS TRl o) s ¥ fhar siran 2 < R
it a1 SfiE @ 915d DNA® Rierehe =1 2 21
YA Il :

T &) IRE=F T 8] e T T w9 ae
DNA®EYS ¥ 991 9oR 3 Rl iR a9 21 siY
DNA g &l geradr @ aive d (fFaR 9 frem)
E W 21

IRF FeFl B g A IR Ry 19 et F 3 vy
& JYYFT IR T 997 I -

(1) T2 | 3R T 1 B e

(2) F 198 2 AP Fu 1|9 2

(3) T |9 7 AR YA a9 )

(4) T | 3R 9 1 341 G986 #)
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148. Which of the following statement is incorrect :
(1) Nitrogen is required for meristematic tissue
(2) Some plants take nitrogen as NO,~or NH,*
(3) Potassium has no role in protein synthesis

(4) Calcium is used in cell wall synthesis.

148. Frfeifaa & 3 @9 @1 Fu9 sEw @
(1) g e Faa @ fore sraws #
(2) TS 9 ArEgIo = NO,“aTNH," & &7 ¥ oid 8
(3) WrefaERr i N wIoor F g e 7 2
(4) =iceram ifderT SR GFeraer ¥ YART R o #
149. Fr=feiaa & &9 91 FoF 9 =

149. Which of the following statement is correct :
(1) CI- has role in water splitting in photosynthesis (1) FeATEe T ST farwes & T 2
(2) Plant obtains molybdenum in the form of MoO,* @) e sifferee=r I MoO," FEFATE
(3) Carboxylases is activated by zinc ) FIarietoToT fS1eF o gRI &ohd Bl &
(4) All of these (4) SudeT &
150. In C, plants 150. C, =W ¥
(1) Photorespiration takes place in mesophyll cells (1) werTHig Taee Aisifthel FifdreRt & S 2
(2) Photorespiration takes place in bundle sheath cells (2) WY Y989 ATeST SifdEnT § BT 8
(3) Photorespiration do not takes place due to @) T @ 99 ST & FEF e SeEEs
maintainance of high CO, concentration at enzyme FifFaTEE aFedl TeARd & vieed age W) @ B
active site (4) 2 1 i 2
(4) Both1and 2
PART-2 (SECTION-A) WAT-2 (§U=-A)
Attempt All 35 Questions o 359% afad @
151. Which of the following statement is true for | 151. FwflRaa ¥ ¥ Fi7 91 F3 T Gaavr = g a7
photosynthesis 2
(1) Several factors interact and simultaneously effect (1) H=eh h1eh ICEqT Tohar &g & 99T 91y - 9y
phetogprithgsis TR Y g Ry F
(2) Usually one factor is the major cause and limit the (2) AMAT: U FRH G HROT T e FwE
rate IR el B
(3) At any point the rate will be determined by the 3) st o ﬁ'_g' T/ X ] 98 FRE TEET w9 T oy
factor available at suboptimal levels PR YR T R ST dig R
(4) All of these are true 4) I o 7y ¥
152. Which of the following statement is not true about | 455 e ¥ A 39 91 F99 G5 & TSN S

bundle sheath cells of maize:
(1) They have numerous chloroplast
(2) Intercellular spaces absent

(3) Theirwalls are notimpervious to gaseous exchange

(4) Theirwalls are thick

% fawg & ag = 2

(1) TR 38T FARRe B &

(2) SRR T ST B B

(3) gt Fofeeai dw faewor & forg s <18t el 2
(4) gt Foifeat At et 2
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153.

154.

155.

156.

157.

Select the correct option for the given diagram

(

) A typical dicot embryo
(2) A typical monocot embryo
)
)

3
(4

L.S. of an embryo of Cycas
False fruit

Which one of the following is incorrect match :

(1) Unisexual flowers — Emasculation

(2) Unisexual flowers — Bagging

(3) Bisexual flowers —Bagging

(4) Bisexual flowers — Emasculation

Seeds of Lupinus arcticus germinated after a
dormancy of

(1) 10days

(2) 10years

(3) 10000 years

(4) 1000 years

How many matching are correct

a. Mule - Fertile

b. Leghorn — Breed of cattle

c. Interspecific hybridisation —Mule

d. Outcrossing —Help to overcome inbreeding
depression

(1) Three

Four
Two

)
)
)
) One

4
Biopesticides are
(1) The chemicals which are used to destroy the pests

(2) Theliving organism or their products which are used

for pest control
(3) The organisms which destroy the crops

(4) None of these

153. fog @ o @ forg ot fawew &1 999 =

(1) e grElde feeiT=ig oo
(2) Ue YU UEASTTAR Yo
(3) WEFE P TF YU F LS.
4) I T
154. fyfafaa & A =19 o9 e 2
(1) wefertil To7 —Fgas
(2) weRferd o7 — ST
(3) faferdy o7 - aferr
(4) fefer qog —fages
155. 9 AT I 1 dief e @/ 9 9gfa @ T
AgRT g 21
(1 10 =
) 10ag
(3) 10000 T§
(4) 1000 aF
156. FRa-l SI&qan a4 2

a. Y-l

;U
1
¥
a

d. R FFO- I IO TP 6 T F A
R
(1) 99
(2) WX
@) =
@) TH
157. SNEETEs @

(1) A NS SN I & 9 F & g B ®

(2) e SE 91 I IE U g & S S
BN ®

(3) g o B wEe B A R
(4) I F I L
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158.

159.

160.

161.

Which one of the following is not a important goal
of HGP :

(1) Identify all the approximately 20,000-25,000 genes
in human DNA

(2) Determine the sequences of the 5 billion chemical
base pairs that make up human DNA

(3) Store this information in databases
(4) Improve tools for data analysis

Which of the following statements are true

(a) smoking increases carbon monoxide in blood

(b) smoking decreases carbon monoxide in blood

(c) smoking increases concentration of

haembound oxygen in blood
(d) Smoking causes oxygen deficiency in body. |
(1) acd (2) bcd

(3) candd (4) aandd |

In which of the following animal True placenta is
absent: I
(a) Koala

(b) Sugar glider

(c) Numbat

(d) Lemur

(e) Flying squirrel

(1) Onlya, b, c (2) Onlya, b
3) a,b,e 4) a,cd

Select the correct option for the given diagram

1

(1) Examples of homologous organ
(2) Examples of Analogous organ
(3)

)

3
(4

Examples of Hind limb bones

Industrial melanism

158. f 1 A I =9 wF SIF Tietee &1 gt aw

ELE
(1) 999 & ST ¥ T AT 20,000-25,000 %79 i
T T

(2) 5 fafoms wfFa ag AT & T o HRET
FET S AT T SIAY T

(3) 39 G F iR B T H AR FeAN
(4) 3iiher & faweiawr 3G T4 T & GUR FAl

159. F=feriag A @ &9 a1 Fy 94 2

(a) SO & & HET AAISEEEE F A= TRMT
(b) TR & A FTE MANGTFEIgE F AT Ferar 2

(c) LM €N ¥ 92 §Y SATaoF ) A= ) W A
Jerar 8

(d) R IR A Sifadie 9 =T &6 gerar @

(1) acd (2) bed

3) c3xd @) a3d
160. fFfafaa & & =19 a1 9ol 2 e arafas @@=

IR ? -

(a) AT

(b) FehATATEST

(c) e

(d) R

(e) I firersdt

(1) ®ada, b, ¢ ) ®ada, b

(3) a,b, e 4) a,c,d

161. 23 1 o & forg 91 ey &1 997 R
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162.

163.

164.

165.

Which one of the following hormones is not

involved in sugar metabolism?
(1) Insulin

{2) Glucagon

(3) Cortisone

(4) Aldosterone

How many statements are correct according to
given type of cross:

AaBb Cc DD X AaBb Cc DD

]

Itis trihybrid cross

T

Itis tetrahybrid cross
c. 8 Types of gametes are formed
d. 9 types of genotypes are formed
(1 4
2 3
(3) 2
)1
For Turner's syndrome correct option :
i. Aneuploidy
ii. Monosomy
iii. Chromosome 45 with XO

iv. It is due to non proper disjunction of
chromosome

(1) Onlyiandii
{2) Onlyii and iii
(3) i, ii, iii and iv
(4) onlyiandiv

Out of a population of 1600 individuals in F,
generation of a cross between yellow round and
green wrinkled seeds of pea plants, what would
be the number of green wrinkled seeds:

(1) 100
(2) 200
(3) 50
4) 25

162.

163.

164.

165.

Feaiaa ¥ @ w9 a5 eWiFg 19T & ey & e
& T 2

(4) TR

3 7 e ® IPR & FER P TR EA R
AaBb Cc DD X Aa Bb Cc DD

a. q’&'@lﬁiﬁﬁ?iﬁ'ﬂg

b. I 2¢7 T3S HiE 2

c. 8YFR & Milcg ¥ 2

d. 9YFR & SiFleEy 994 2

(1) 4

@ 3

@) 2

@ 1

TR = & o v faaea 2

(i) TgwiiaE

(ii) AAERR

(iii) ARG 45, XO & 41

(iv) 9% URAT & TIT& &7 ¥ T 7 & & Bar @

(1) Fae i i

(2) aer i 3 i

@3) i, ii, iii FCiv

(4) Fae i 3 iv

et & el B e i i R gier A9 & 97 v

¥ F, §idf ¥ 1600 wafwal 9 sqaeEn ¥ o G =t

FUR Bl

(1) 100

(2) 200
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166. In f, generation, a phenotypic ratio 1 :1 :1 :1
exihibit:
(1) Back cross
(2) Monohybrid test cross
(3) Dihybrid test cross
(4) Trihybrid test cross

167. The amino acid phenylalanine is converted into

tyrosine with help of enzyme :
(1) Tyrosinase

(2) Protease

(3) Tyrosine hydroxylase

(4) Phenyl alanine hydroxylase

168. In each pregnancy probability of a female child

is:
(1) 25%

(2) 50 %

(3) 75%

(4) 100 %

Assertion (A): Calcium ions play a very important

3

169.
role in blood clotting

Reason (R): Calcium ions help in conversion of
prothrombrin to thrombin

(1) Both (A) and (R) are true but (R) is not the correct
explanation of (A)

(2) (A)is true but (R) is false

(3) (A)is false but (R) is true

(4) Both (A) and (R) are true and (R) is the correct
explanation of (A)

170. Assertion (A) : The Human Heart are myogenic type

Reason (R): In Human Heart intercalated disc are
present

(1) Both (A)and (R) are true but (R) is not the correct

explanation of (A)
(A) is true but (R) is false
(A) is false but (R) is true

Both (A) and (R) are true and (R) is the correct
explanation of (A)

BEON
z2 & B

166. f,9IdY 3 <sieT &1 IR 1:1:1 :1 veiia sar 2
(1) 9% w9
(2) AETERE T FE
(3) srEErEfE ¢ w
(4) greErEiE v wE

TR IRIFN S ZTEUE SRTAT oFer o seeEr
21 e oeT & BN

167.

(3) TTEAEH BrEgrrierT
(4) TR FTEIEEeT
Tl TTgeT 3 AT dea & T Bl @ -

| (1) 25%

168.

@) 50 %
B) 5%
I 4) 100 %

FY (A): DRI AT @F T A TF AEd
i1 fAsTrar 2

HRYT (R): DI AT NS & FifksT & yRad+
A e T 21

(1) (A) 3R (R) 2 w81 2 off (R) 98 e =181 2
(A) =T

(2) (A)=E 2 AfFT (R) T &
(3) (A)Ted & AT (R) @&l 2
(4) (A)3I (R) 3 &8 & 3K (R)¥el =/ & (A) T
FYT (A): T FT g2 TRI-h THR $T T 2

SR (R): 9049 & g9 A Fdiase 3 Iufeya =iar
21

(1) (A) 3R (R)2 =& 2 AfF9 (R) @& =gran =8 2
(A) =T

2) (A)FH 2 AT (R) 7o @
@) (A)TeT 2 AfFT (R)FH &
@) (A)3 (R) ST 9& & 3R (R) & =mam & (A) =l

169.

170.
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171.

172.

173.

174.

175.

176.

177.

Lack of menstruation due to
(1) Poor health
(2) Stress

(3) Pregnancy
(4) Allof these

Which one of the following is correct match for
Human

(1) mammary lobes - 10-12

(2) menstrual cycle - 20- 24 days
(3) menstrual flow - 3-5days
(4) ovulation - 10™day

The main central region of stomach is
(1) cardiac

(2) fundic

(3) body

(4) pyloric

In tissue pO2 and pCO2 are respectively:
(1) 45 mmHg and 40 mmHg

(2) 40 mmHg and 45 mmHg

(3) 40 mmHg and 40 mmHg

(4) 45 mmHg and 45 mmHg

The upper surface of the tongue has small
projections called :

(1) Enamel
(2) Papillae
(3) Frenulum
(4) Teeth buds

Which one of the following is incorrect match :

(1)
@)
)

Ammonotelic — Aquatic insect

Ureotelic — Frog
3) Uricotelic — Cockroach
(4) Ureotelic — Birds

How many matching are correct

a. Relaxin - Ovary

b. Estrogens - Placenta

c. Estrogens - Graafian Follicle
d. Follicular phase - secretory phase
(1) 4 2 3

3) 2 (4)1

171. FEETE & A Bl 2

(1) ©UE T@RT & RO

(2) THT T FR
(3) TifEET & R
(4) SR of
172. Fr=foiaa & 3 #19 @ e 199 & foe 98t 21
(1) &= wiferdr - 10 -12
2) FEER - 20 -24T9
(3) TEaEE - 3-5fF
(4) ST - joar A
173. AT &1 40 D1g & e B |
(1) Fifsaw
(2) wRF
@) =™
(4) TrEenReE
174. Fas ¥ pO, AR pCO, Har: Bt 21

1) 45 mmHg 37 40 mmHg
2) 40 mmHg 3K 45 mmHg
)
)

e e i

3) 40 mmHg 3 40 mmHg
4) 45 mmHg 3¥ 45 mmHg

—_

175. S & F9 998 W YA 9F 91 T FEdan €

(1) ¥t
(2) ek
(3) e
@) d =

176. frfofaa & & &9 6 seTar e 2
(1) IrfEr I ~ el #iT
(2) gRasEI - WEw
(3) IR e Joll —  HiEAd
(4) gRarSTEaT - wE

177. Tal agear 9w 2
a. RefesT - JvsEg
b. ¥EIeH - AW
c. Yo L
d. el gaen - g
(1) 4 @ 3
3) 2 (4)1
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178.

179.

180.

181.

182.

183.

How do parasympathetic neural signals affect the
working of the heart :

(1) Reduce both heart rate and cardiac output

(2) Heartrate is increases without affecting the cardiac
output

(3) Both heart rate and cardiac output increases

(4) heartrate decreases but cardiac output increases.
8-16 cell stage of embryo is called

(1
(2
(3
(4

) blastocyst
) morula

) trophoblast
)

none of these

178. 199 TR 4 WIHAT a5l 99 g9 & S &l

RT s 2 :
(1) geFe™ 3R g2 = A H T FHdl ©

(2) B29 W 92 WM 2| 5 2 e = vfee
Exll

(3) g™ 3R g2 = A = FeET B
(4) 729 = Heal B oA g Mem sear 2

179. 8-16 IR AT ATAT VT FedATT B |

(1) PRFIE
(2) &t

(3) IHRE
(4) =15 &

Which of the following is not a paired structure in  180. FT ¥ @ F & o w A S A T 9 S

human male:

(1) Urethra

(2) Vasdeferens

(3) Epididymis

(4) Ejaculatory duct

Diffusion rate is affected by :

(1) Concentration gradient

(2) Permeability of membrane

(3) Temperature and pressure

(4) All of these

In mycorrhiza function of hyphae :

(1) Protection of algae

(2) Absorb mineral ion and water from soil
(3) In photosynthesis

(4) All of these

Evaporative loss of water by plants is called:
(1) Bleeding

(2) Ascent of sap

(3) Transpiration

(4) Guttation

(3) siftrge
(4) goeReicd AR

181. faar @) == ifad =it =

(1) EIwT & g9 &
(2) Toreht al aram @
(3) AT 3R T 9
(4) I W

182. AEHITS A HaF T BT IYAIT 2:

(1) 3o =1 T3

(2) A Fed & o1 F | A ST 2
(3) WeFTH ey

@) =¢

183. gt I o/ & Y B ¥ A THAF FeAa 2

(1) ERR 79’
(2) w@REwT
(3) A
(4) forgama

>
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184. Recombination is completed in which phase of

185.

meiosis:
(1) Leptotene
(2) Zygotene
(3) Pachytene
(4) Diakinesis
What will be the number of the chromosomes in
human in S-phase if the number of chromosomes
in G,-phase is 46 :
(1) 44
(2) 23
(3) 46
(4) 92
PART-2 (SECTION-B)

This section will have 15 questions. Candidate can
choose to attempt any 10 question out of these 15

question. In case if candiate attempts more than |

10 question, first 10 attempted question will be
considered for marking.

184. FaaoA FETgAfs o & e e I siar 2:

185.

(1) d=afes
(2) S
(3) dfpfes
(4) ST
IR G, g ¥ A N dM 462 A AT D S
graedr ¥ A 9 gEr 4 ahi:
(1) 4
@ 23
(3) 46
@) %2
HAT-2 (|Us-B)

T GvE ¥ 1595 21 70t 51 15970 ' ¥ =S off
1093 R el =1 Ife g8uri 109 aiftrs v &1
IR A1 2 o 5 R g IA 1099 & A=y B

186.

187.

In oocytes of some vertebrates which stage can | 186.

last for months or years
(1) Diplotene
(2) Pachytene
(3) Diakinesis
(4) Leptotene

Match the following and choose the correct
combination from the option given below

Column -1 Column -l
(Organic compound) (Example)
(a) Fatty acid (i) Glutamic acid
(b) Phospholipid
(c)
(d)
(M
2
@)

)

(i) Tryptophan
Aromatic amino acid (iii) Lecithin
Acidic amino acid (iv) Palmitic acid
a-i, b-ii, c-iii, d-iv

a-ii, b-iii, c-iv, d-i

a-iv, b-iii, c-ii, d-i

a-iii, b-iv, c-i, d-ii

{S FEed & FuEey ¥ FiF @ 2 7EE A1 9=
% 9 Gl © -

(1) R=iém
(2) FehIeH
(3) SréeFTEARE
(4) W
187. +1id 23 et ) Fieree w8t R 9fHe
Hia - | wiar -l
(T 4ifirR) ()
(a) =917 T (i) TRF I
(b) wrERifafts (ii) Rer®m
(c) G sl awer (i) SR
(d) s<itg ol o (iv) TR 3P

a-i, b-ii, c-iii, d-iv
a-ii, b-iii, c-iv, d-i
a-iv, b-iii, c-ii, d-i

a-iii, b-iv, c-i, d-ii
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188. Which cell organelles principally perform the

function of packaging materials
(1) Lysosome

)
@)
(@)

Vacuole
Golgi apparatus
Plastid

189.Given below are two statements : one is labelled

190.

191.

192.

as Assertion (A) and the other is labelled as Reason
(R).

Assertion (A):

All enzyme are not proteins.

Reason (R):

There are some nucleic acids that behave like
enzyme.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(2) (A)is correct but (R) is not correct
(3) (A)is not correct but (R) is correct

(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

Which of the following cells do not have nucleus
at maturity :

(1) Mature erythrocytes

(2) Sievetube cells

(3) Both1and?2

(4) Lysosome

The coconut water and the edible part of coconut
are equivalent to :

(1) Mesocarp
@)
@)
)

Embryo
Endosperm

Endocarp

Generally after fertilisation the sepals, petals and
stamens of the flower :

4
@

) Wither and fall off

) Grow and become enlarged
(3) No clear idea about this

(4) Colour become changed

188.

189.

190.

191.

192.

I+ 41 R 3T & 7 A w7 9 9dfed s
&1 F1 B

(1) <rgEEs

(2) @yt

(3) 7T IIEE

@) aF

T 2 = e 1w 2, oo st (A) @ ik

TEY FRT (R) @ daes @

AT (A):

T gIgw NN A4 B 7

R (R) :

FI Felld I T I aE FIER FW 2

I HYAl & A A 8 9899 W, A fow A

fasreat & 98 I A

(1) 3T A 3R REE & 3R R, A 57 981 =& T8
FT 2

) Awf ? g R8I =¥ @

3) AwEr 8 & g RS B

(4) TF A 3R REE 2 3R R, A 31 981 R el 21

FrfaRaa 3 9 =19 9 Fife WReeg 39 | s
Hﬁﬂﬂ?ﬁ%:

(1) aRyer gaYrTEe

(2) T T

(3) 1 3% 2 <=

(4) rarEm

RS &1 9T AR ARG & @Ry 9T R s 3
(1) WA

@) 3

(3) yorH

(4) HI: el

I PR & 9T O & 98y o, TEE 3l
TR :

(1) TR 7 W 2

2 & T R B I 3?

(3) ®IE e T =&l 31 5@ fawg

(4) 41 9 9T B
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193. Given below are two statements : one is labelled
as Assertion (A) and the other is labelled as Reason
(R).

Assertion (A):
Xylem and phloem are a type of complex tissue
Reason (R):

Xylem and phloem are made of more than one
type of cells and these work together as a unit.

In the light of the above statements, choose the
most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(2) (A)is correct but (R) is not correct
(3) (A)is not correct but (R) is correct

(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

194. In which of the following groups of plants seed

formation takes place:
Pteridophytes
Gymnosperm
Angiosperm
Bryophytes

a,bc

b, c

All

e o T p

®)
)
Which one of the following statements are
corrects:

Only c
195.

a. Male and female strobili are present on the
same tree of Pinus

b. Male and female strobili are separately present
on the different tree of Cycas

c. In Cycas megasporophylls are associate to
form compact structure female cone

d. Marchantia and Pinus are monoecious plant
(M
2
@)
@)

a,bc
a,b
b, c

only a

193. Frifefaa & = Ry w1 2, v sy (A) @ ik
T FRT (R) @ d¥es @

AR (A):

SIge SR FAGH ¥ TR T Do S 2 |
FHRT (R) :

e AR T o A Aftrs ghR 3 FIREe @

Tt =1 Bl 21 AR A U 91T Uk Sah1s A e
T el 2|

J9ATT FYA B el A GE =g B, A Ry g

foredt & w6 SR T

(1) <Mt A 3R R¥E) € 3K R, A &7 981 e Het
Fr R

(2) A@E 8 W] Rud 78 2

3) AGEr T8l & g REE 2

(4) S A 3 REE 2 3 R, A 91 9E) e el 2
FeafefEa 3 Far =l a1 ey @ @ Rl e feiior
Har 2 :

a. CRewEcE

b. gt

c. gl

d. IEEECE

(M abc
(2) b, c

(3) w¢
4) REd ©
195. Ffefaa & =i9 91 wy I =

a. R 3R Mer s 95g @ o & ga F weh
I 2

b. R 3R =T Kiawrs -2 agwd & ol 3
T YRR et @

c. UEHY ¥ geIeniitha Yo v FFdaT G
AT S TR 3

d. R 3K e R ey @

(1) a, b, c

194,

@) ab
@3) b, c
4) F9d a
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196.

197.

198.

199.

Match the following

a. Lycopsida i) Adiantum
b. Pteropsida ii) Selaginella
c. Sphenopsida ili) Psilotum
d. Psilopsida iv) Equisetum
(1) afii), biv), (i), d(iii)

(2) a(i), b(iv), c(ii), d(iii)

(3) afii), b(i), c(iv), diii)

(&) a(ii), b(iii), c(iv), d(i)

Which of the following statements are true

a. Dinoflagellates are mostly marine and
photosynthetic

They appear yellow, green , brown , blue or
red depending on the main pigments present
in their cells

The cell wall has stiff cellulose plates on their
outer surface

Most of them have two flagella , one lies |
longitudinally and the other transversely in the
furrow between the wall plates I
all of these

Only a,b,d

Only b,c,d I
Only a,c,d

(1)
@)
&)
)
Eucalyptus, Sphagnum, Ginkgo, Sequoia,
Polysiphonia, Selaginella, Pteris.

How many members have vascular tissue :

(1) &

@ 4

3 5

@ 3

Given below are two statements , one is labelled

as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):

Prop roots are a type of adventitious root.

Reason (R):

Prop root are formed by the direct elongation of

radicle

In the light of the above statements, choose the

most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct but (R) is not the
correct explanation of (A)

(2) (A)is correct but (R) is not correct

(3) (A)is not correct but (R) is correct

(4) Both (A) and (R) are correct and (R) is the correct
explanation of (A)

196. o= =1 gaifera =4

a. wEhIRET i) R
b. 2qqfder ii) RR@er
c. “hAREr iii) argeie
d. argeaider iv) gerdifdes

(1) aii), b(iv), c(i), d(iii)
@) a(i), b(iv), c(ii), d(iii)
@) aii), b(i), c(iv), d(iii)
@) a(ii), biii), c(iv), d(i)

197. faRaa A 4 &9 91 S99 99 =

a. SEMITRNET T&d: SE) ¢9 THEETad g 2 |

b. T iR # Julted T avfel @ R R
i, R, R, - svar o e @

c. Tl R M 3 arer 9as W Asgaler I FE
Tefewr Bt 21

d. 3t seFRtee 3 3t FanT s 2 e
U daae a1 U AT W & Rifes vefesra
& d9 9 @i & IRya war 2

(1) oo

(2) =9 ab,d

(3) @ad b,c,d

(4) %aw a,c,d

198. gapfered, whamw, frwat, Ragan, wreiarwia

199.

Reifomarn, 2Ra 1

o ¥ fFee 9o 99 ooe @ &

(1) 6

(2 4

(3 5

4 3

Freifeiaa <t = Ry w1 3, v aftrsa (A) 9 3R

T8 FRT (R) @ Adee 2

AR (A):

91 W% T THR & Joeiiw oig s 2

%R (R):

iy 9% &7 Fafer JEreaR @ w1 89 A gar 21

IRFT YAl & et F € 999 B, i Re g

faset ¥ a6 S g

(1) 391 A 3k R¥8l 2 3K R, A &I 98I RN 8l
FT B

(2) AGEl 2 gy Rad 778 2

(3) A GE Tl § 9vg R&E

(4) B A 3 RS 2 3K R, A Y 98 e Fieel =
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200. What was the most significant trend in the | 200. 3T g (ﬁ‘ﬂaﬁ'ﬂ'ﬂ) wwﬁﬁﬁ%ﬁmﬂ'

evolution of modern man (Homo sapiens) from his
ancestors:

(1) Shortening of jaws

(2) Binocular vision

(3) Increasing cranial capacity

(4) Upright posture

Fattrer el RErRur &= 9
(1) 99 FT DeT B AAT

() B g

(3) TS & I el

(4) €l T
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NEW LIGHT INSTITUTE TEST AND INFORMATION CENTRES

sr. NEW LIGHT TEST & INFORMATION Sr. NEW LIGHT TEST & INFORMATION
No. DIST. CENTRLEADD. CONTACT NO. e DIST. CENTHEE ADD. CONTACT NO.
1 [CUCKNOW 2nd FLOOR CHITRAHAR 8317018795, 79 |ETAWAH FRIENDS COLONY, 9670236078,
BUILDING, 0522-4241813 INFRONT OF RELIANGE SMART 8126670494
NAWAL KISHORE ROAD, POINT ETAWAH-206001
HAZRATGANJ,
LUCKNOW-226001
7 [VARANASI-1 NEW LIGHT INSTITUTE 5161448800 20 |FIROZABAD ISLAMIA INTER COLLEGE 9219148213
{DURGAKUND) B-26/93-A NEAR BLOCK NO. 13 7068919405 JALESAR ROAD
KABEER NAGAR FIROZABAD-283203
DURGAKUND VARANASI.
3 |[VARANASI 2 CHEMICA CLASSES DAULATPUR 7985222158 21 |AMBEDKAR NAGAR |KAUTILYAGURKULUM 9450310541
{(PANDEYPUR} BHAKTINAGAR ROAD BEH IND OLD TEHSEEL AVIRAL COMPLEX | 6388281432
BAKUNTH RUDRAPRABH AVATI BELOW PNB AMBEDKAR
NAGAR COLONY PANDEYPUR NAGAR AKBRPUR
VARAN ASI
7 |PRAYAGRAJ [977/40 ,CHURCH LANE [OPP. 9415646604, 22 |JHANSI ANALYSIS ACADEMY - ZND 8410897039
HOLY TRINITY SCHOOL) PRAYAG 9335145683 FLOOR ABOVE PNB BANK NEAR 9140689115
RAJ RTO OFFICE, KANPUR ROAD
JHANSI, U.P.- 284001
5 |FAIZABAD, ATODHYA [SHASWAT CAREER INSTITUTE 8528209723, 23 |BASTI HN 621 AWAS VIKAS COLONY 5386474115,
SHANKAR GARH BAZAR, DEVKALI 8565140705 BASTIU.P. 9151643709
BYPASS
AMBEDKAR NAGAR ROAD,
FAIZABAD
6 [BAREILLY-1 A28, RAJENDRA NAGAR, 8630161846 24 |BAHARAICH AAKASHDEEP NEET CLASSES 6306273918,
NEAR SHREE BANKEY BIHARI GHASIYARIPURAGONDA ROAD 9450426271
MANDIR, BAREILLY INFRONT U.P. AGRO CITY KART
BAHRAICH UP
7 |[BAREILLY Z BRAIN SHAPERS INSTITUTE B630972263, JOBS COMPUTER NEAR INDIAN B7E7035531
{Nawabganj) Sanjay com plex, bypass chauraha, 9736599566 OIL PETROL PUMP GORAKHPUR
Nawabgani, Bareilly ROAD KASYAKUSINAGER UP
8 |[SULTANPUR GENIUS INSTITUTE, RAHUL 7860121717 JOB COMPUTER INSTITUTE 8787035531
CHAURAHA, NEAR TEMPO STAND
NABIPUR ROAD NEAR PETROL TAMKUHIRAJ KUSHIN GAR
PUMP.
SULTANPUR
9 [GORAKHPUR NEW LIGHT INSTTUTE 7309390572 A(RAJSTHAN) |GLOBAL INSTITUTE OF 8852916556
Opp.D.LG. BANGLAW CANTT 6393426990 COMMERCE
ROAD, GORAKHPUR C-100 SUWALAL KACHORILANE
TALWANDI
KOTA 324005
10 [DEORIA NEET/JEE INSTTUTE FATNA (BIHAR) VISION KOTA CLASSES 7903420077
PARMARTHIPOKHARA SAKET BAZARSAMITI SAKETPURI, 7549783828
NAGAR NEW COLONY NEAR NMCH RAILWAY
DEORIA - 724807 GROSSING, PATNA 800016
11 [LAKHIMPUR KHERI |VIRAT COACHING CENTRE 29 |DARBHANGA BIHAR}[KILAGHAT MAHDAULINEAR (CM | 8709707718
NEAR Y.D. COLLEGE, LAKHIMPUR jg# ARTS GOLLEGE DARBHANGA 8539060118
KHER| { 846008
12 |[BANDA OFP.OPD GATE NO 2 30 [SHASHARAM (BIHAR) |[TAKIYA BAZAR , WARD NO 10 79924 66188
RAJKEYA ALLOPATHIC MED!CAL\ AMBED KAR PATH SAS ARAM
COLLEGE, ROHTAS BIHAR 821115
NARAINI ROAD, BANDA-210001
13 [MEERUT GAYATRICLASSES 5319965050 31 |NASHIK PIMESON INSTITUTE 025379600286,
NEAR KACHEHRI, OPP. SAGAR (MAHAR ASHTRA) PATIL LINE-3, st Floor MARTAND | 8796941677,
COMPUTEX COMLEX ABOVE MAHARSHTRA 9260932356
PL-SHARMAROAD MEERUT BHANDAR OPP. BIGBEAZAR
COLLEGE ROAD NASHIK- 422005
T4 |[MORADABAD SACHIN COACHING CLASSES 9258164798 JTALGAON GANGAPURKAR CLASSES,PLOT | 9823118910
OPP.MATA MAND IR LINE PAR, (MAHARASHTRA) NO.2-A, SHARDA COLONY 9881093853
MORADABAD NEAR MAHABAL, JALGAON,
MAHARASHTRA, PIN-425002
T5 [AZAMGHARH PRATIGYA COACHING INSTITUTE 8858798709, GWALIOR (MP) GYANDA ACADEMY SECOND 9453471286
NARAULI TIRAHA, 8858650140, FLOOR SAI ARCHADE OPPOSITE | 8090281288
FIRST FLOOR (NEAR H.P.PTEROL| 9452481000 RADIANCE HOTEL CITY CENTRE
PUMP), GWALIOR MP
AZAMGHARH
16 [MAU SKY LIGHT ACADEMY 5236123531, RAIPUR KOTASTUDY CIRCLE RAIPUR 7489606652,
NEAR HATHKARGHA OFFICE, 7905187601 (CHHATISGARH) BRANCH FIRSTFLOOR BHATIA |+91 B2898 45570,
MADHU HOTEL COMPLEX, NEAR RAJ KUMAR +91 6260 420 165
DCSK PG COLLEGE ROAD, COLLEGE
MAU NATH BHANJAN MAU UP- RAIPUR CHHATISGARH
275101
T7 [JAUNPUR HOUSE NO. 149 8574955958, DEHRADUN 94 DHARAMPUR, HAR D WAR 8869090231
INFRONT OF ROAD WAYS BUS 9452061485 (UK) ROAD OPP. THE ORCHARD HALL | 7906275857
STAND, PARAGANAKENDRIYA D OON,
KACHEHARIROAD, JAUNPUR- DEHRADUN UK-248001
222002
18 [RAEBARELI SANSHIKSHA ACADEMY, ZND 7705002074, SHIMLA [SPRING DALES SS5 KHANERI 9736599566
FLCOR, 7705002075 (HIMANGHAL RAMPUR BUSHAHAR SHIMLA 8630972263
ZAMEER COMPOUND ABOVE SBI PRADESH) HIMANCHAL PRADESH-172001
CITY BRANCH FLOOR, CANAL
ROAD, RAEBARELI




SOLUTION

PHYSICS

SECTION-A

Attempt All 35 Questions

SECTION-A

@)

@)

@

4

From h=ut+ %gﬁ

h:0+%><9.8><(2)2:19.6m

e Yo
h [
=i2(£) =ii
2 10
/\h=+l= E:H 96
10 10
Y o< FAVPAS Y= (i}
A
MLT

Lz - (M1LIT-7 )ﬂ (L1T—1 )h (L? )r‘

M1L-1T—2 o MaLa+h+2cT—23—b
atb+2c=-1

—2a+b=-2
a=1,b=0,c=-1
Y = F'VPA.

All are dimensions of velocity.
(=[y]=[LT]
21=[]

[NCERT-67]

-—

B
2

sinp = =—
P 2

B=30°

So, angle between A and B

bn
0=n-30=150°= 6

-~ a =g = constant]

Attempt All 35 Questions

[NCERT-25] | 4.

[NCERT-33] | 2,

[NCERT33] | ,

3

4

@

4

[NCERT-25]
1
h=ut+_gt
ut+ > o]
h= 0+%><9.8><(2)2 =19.6m
Ah At ;
T o2T [-- a =g =Taa®]
= ig(ﬂ) - ii
2 10
Ah = +L = +_1§'6 =+1.96
10 10
[NCERT-33]
Y o FPVPAS y{EJ
A
49
MI.I__I P (MIL‘ET_? )a (L'IT—I )h (Lj )C
M1L-1T—2 oc MaLa+b+2uT—2a—b
a+b+2c=-1
—2Z2a+b=-2
a=1,b=0,c=-1
Y = FI'VOA.
[NCERT-33]
I 7 ooy § = W A & ®
[x]=[v]=[LT"]
[2]=]T"]
[NCERT-67]

B
C
A

B 1

2B 2

oo

sinp =
p=30°

T A R B & & T

5n
A=n-30=150°= 5

NLI/3



a 1
u+ Eg(2t2 -1)

10+%x10(2x3—1)

10+%><10(2><2-1)

_ 10+5(5) _10+25 _35
T 10+5(3) 10+15 25

5 (1) [NCERT-395] [ 5. (1) [NCERT-395]
12400 12400 ;
4000 " _2 4000 °_2
12400 1 12400 14
6000 ¢ 6000
h=1.03eV d=1.03eV
6. (2 [ConceptNCERT430] | 6. (2) [ConceptNCERT-430]
h _h
Ap = P Ap = P
A
A /
So, 5 —q: 4 A L2 =1 1
' hy 7“2%/
M4 3
7. @ [NCERT45] | 7= (4) [NCERT-45]
dv
dv a=v—
a= V& v dx
7
a—10(—2j 3410(_3J
> |
20
a:—%m/s2 a——?mls2
8 @ [NCERT-427] ls. @ [NCERT-427]
1 1
1 1 1 1 gjl2_1
TRL—?‘F} ! x {nf né}
1 2
1 1 1
___1 L — _1.007x107 |-~
= 57062100 :1-097“07{1—2-“—2} ~ 970.6x10 " ) {12 ni}
) 2
=n,=4 =n,=4
. Number of emission line - Joafetg YERN S 9=
N:n(n—1):4><3:6 N:n(n_1):4X3=6
2 2 2 2
9. (4) [NCERT-428] | 9. (4) [NCERT-428]
10. (2) [NCERT49] | 10. (2) [NCERT-49]
us g2t - 1) us g2t -
Ssu _ 2 ! S _ 2 '
Szn Sind

1
u+ Eg(2t;_. -1

10+%x10(2x3—1)

10+%x10(2x2—1)

_10+5(5) _10+25 _35
T10+53) 10+15 25

S 1

San S

NLI/ 4



™. @)

12. (4)

13. (3)

14. (3)

15. (1)

16. (1)

~ u®sin20
g

R

UZ

Max Range = E

A = R?
A o R?

Aocu’

A 4
Az U

At T 1Ay
16 A, ul

[NCERT-77]

w171
2] 16

[NCERT]

1. @)

12. (4)

[NCERT-446] | 13. (3)

t/5
J =1t=15 day

[NCERT-505]

Ce

When A=0
B=0
C=1

will give output Y' =

ThenY =1.

1 1
=tanf|1-—|=1-—
B [ nZJ n?

[As 6 =45°]

O

[NCERT-112]

[NCERT-488]

14. (3)

[NCERT-77]

[NCERT-]

[NCERT-446]

] =(%] =t=15 faq

[NCERT-505]

g vy =

awY =1.

15. (1)

1 1
p:tane(1—nz)=1—n2

[As 6 = 45°]

16. (1)

e

[NCERT-112]

[NCERT-488]

NLI/5



7. (1) [NCERT489] [ 17. (1) [NCERT-489]
Itis V-1 graph for solar cell where point Arepresents I8 V- TF e A & forg 7, et g AT aRgy
open circuit voltage and point B short circuit ‘ Ny
cnirert o1 fava 3T g B wAeuferem aitae &1 fave samr 2

18. (4 [NCERT-122] | 18 4) [NCERT-122]
To complete a vertical circle, speed at A should T ST I Al 7 A & oy
be v, =6gR AR v, =,BgR EF =T
using energy conservation Troll AXETIT T STANT BT

1 LI
mgh:Eva mgh:Eva
zlﬁzlf’_gE[R:E) hi"_A15_gE[REJ
2g 2g2 2 2g 2g2 2
h= @ h= @
4 4

19. (3) [NCERT-124] 19. (3) [NCERT-124]
When block of mass M collides with the sprign its T M R T e R & o § g
kinetic energy gets converted into elastic potential aferr St Ry &t ey fufarer ot o oRafda &
energy of the spring | e B
From the law of conservation of energy ol 9T & BT 9

I

L . Ao \/K Vnz o Tara \/ﬁ
—Mv*® = —KL v=_/—L —Mv* =—KL v=[—L
2 2 = M 2 2 - M
where v is the velocity of block by which it colloides | R Ve o 9 S T o 3 ¥ 9 Ry A T
with spring. So, its maximum momentum 2 FEni Berukien

K
P=MV=M\PL=\/'MKL -mv=m 8 =

T P=MV= M\/%L =/MK L
After collision the block will rebound with same Hoee & TR e Y& 93T ¥ aE e
linear momentum 3 F ‘ = Bl

20. (3) [NCERT-280]

20. (3) [NCERT-280]
The relation between F and C scale is £ P2 C F-32
"5 g9 HAEIEC UF Afcdaw whet § gay e T%ﬁ
If F=C = C =-40°C, i.e., at—40°the Centigrade )
and Fahrenheit thermometers reads the same. ¥ F =C a9 C =—40°C, 3 —40° R fcaaa v
21. (1) [NCERT-165] FRATEE YA FHH 916 241
22, (4) [NCERT-192] | 21. (1) [NCERT-165]
22. (4) [NCERT-192]
Gm _ G(4m)
X2 (r—x)? Gm _ G(4m)
X (r=x)
1 2
—=—— = r-X=2X
X r—-x 1:i:>r_)(:2x
X r—x
g
IX=r=x=— r
3 X=r=>x=—
3
Th itational potential Gldm) Gm  G(4m)
e gravitational potential = — - —
/3 2r/3 g ——-
' "/ e (73 2r/3
:_SGm_BGm:_QGm 3Gm  6Gm 9Gm
r r r == - ==
r r r

NLI/ 6



73 @

24. (1)

25. (1)

26. (3)

27. (4

[3RT

Vr.m.s =
M
v _ [RT, _ [3RT,
=2 rm.s M MH

o}
T, _ T,

Hence, NTo = M

H

T =273°+47°=320K, M _=32,M,_ =2

T, :£x320:20K .
32

Here v =A% -V?

n A?
N v=" AT -
ow T 4
e A3
T

AQ=-20J; AW =10 J
AQ = (U, —U,)+ AW
= -20 = (U, - 40)-10

=U, =-10+40=30J

So, F'=F +mg
=mg +mg
ma = 2mg

a=2g=20m/s2

[NCERT322] | 23.

[NCERT-355]
24,

NCERT-30
[ 7] |25

[NCERT -16] | ¢

[NCERT-28] | 27.

)

(1)

(1)

3)

‘3RT
Vims T4/~
M
, - [3RT, _ [3RT,
CLoorms T MO - MH

Jo _Tu
AT MD 7MH

[NCERT-327]

T =273°+47°=320 K, M_=32, M, =2

T :£x320 =20K .
32

Tl v = AT —y?

2m |y A
T 4

V_TcA\/g
R

¥ V=

a1

AQ=-20J: AW =-10J
AQ =(U, —U)+ AW
= -20 = (U, - 40)—- 10

=>U;, =-10+40=30J

F
I |
E
F=mg l
mg mgF
So, F'=F +mg
=mg + mg
ma =2mg

a=2g=20m/s%

[NCERT-355]

[NCERT-307]

[NCERT -16]

[NCERT-28]

NLI/7



28. (4)

29. (2

30. (4)

31. @)

32.
33.

@)
@

34. (2

35. (2)

[NCERT-20] 28.

)

Considering a closed q of side {(a) around the charge

q
total flux passing through 6 surfaces. 23 :g

1 g
.. Flux passing through one surface = -

£

29. (2)

[NCERT-378]

voc AT or Tocv?

When vis doubled, T is quadrupled.

30. (4)

[NCERT-79]

6uF and 4uF are in parallel and total charge on
this combination is 30uC

.. Charge on 6uF capacitor

6
5 X30=18uC |

Since charge is asked on right plate therefore is

+18uC. | 31.

[NCERT-379]

At the same time with different velocities |
[NCERT-107]

[NCERT-103]

)

32.
33.

3
2
R=53x10" +5% = 530k + 5%

[NCERT-115] @

[NCERT-116]

Aplying Kirchhoff's law for the loops (1) and (2) as
show in figure

For loop (1)

For loop (2)
-2(i, —i,)+4i,-6=0

On solving equation (i) and (ii),i, = 1.8 A

[NCERT-20]

_q
T Y5 ¥ el T & T o F P2 v

£o
LI
I & F T G
[NCERT-378]
vec T or T o v?
LT AN FE 9L T AR IHT BT
[NCERT-79]

BF T 4uF TR 7 31 39 998 R el T
30uC

. BuF GeTRT TR 3a

x 30 =18uC
6+4 H

T4 wE W &Y = +18pC.

[NCERT-379]
U B W W A @
[NCERT-107]
[NCERT-103]
R =53x10* + 5% = 530kQ + 5%
[NCERT-115]
B S B0 B.4.4
E _2R, R, 2R1=2 2 92
S
2R, R, 2R, 2 22
= E =33
3
[NCERT-116]
e o9 @
2 -y =2 .. (i)
T AT N

i, +3i, =3

(i) 3 (ii), i, = 1.8A

NLI/8



SECTION-B SECTION-B
Attempt any 10 Questions Attempt any 10 Questions
36. (3) [NCERT-330] [ 3¢ (3 [NCERT-330]
1 1 1 1
TR I
1 2 3 f ; fg f3
S R CIa NIV ENERTE
1 * (27 e 25) 50
o) e EIRY A
2 f, 3 25 20 100
_:[3_1]{L_1):_i l_(ﬁ_ J(L_l)__i
f, \2 20 =/ 40 L 2 20 ) 40
T M 3.8 1 A-8a2AD) 18 1 1 1.3 1] 1[-8+12-10] 1[-6
f 5] 10 20 8] 5 80 5080 T B ‘ﬁ*‘ﬁ‘g 5 80 | s5l80
f= ‘Lgocm =—66.6cm f= —@cm =-66.6cm
6
37. (2 [NCERT-345] | 37. (2 [NCERT-345]
1:1:1 1:1:1
38. (2 [NCERT-194] 38. (2) [NCERT-194]
Diamagnetism is generally weakest of the three, and qﬁﬂﬁﬁ A 9FF & a9 Bl9T & o9 FLEdl
is associated with negative susceptibility
ggfed VI 2 &
39. (1) 30, (1)
lkirtinimum desifioneendifion’r = =% =g0° . A _B0_ .0
a 277 e fae =i R ¥ r -5 = =30
40. (1) 40. (1)
41. (2) [NCERT-362] | 41. (2) [NCERT-362]
Imax :16 Imax -16
iI‘ﬂll‘\ Imin
A A
max 4 max _ 4
Amin Arnir\
A +A, 4 AtA, 4
A-A, 1 A-A 1
using componendo and divideno e 3T RRarERHr 1 STERT e
Léjhu[ﬁ)ié A _5_ L _(57_25
A, 3 I, \3 9 A, 371, L3 9
42. (2) [NCERT-248] | 42. (2) [NCERT-248]
FL  FL FL__FL
AL == — [ T ———
AY TI:DZY AL AY TCDZY
AL F (Do) Y _Ls AL F (Do) Yo _Ls
AL, F.\Dg ) Yy Lg AL, F.\Dg ) Yy L.
2 2
7 (1)1 79 7 (1)(1)._ Tq
— = — q = 3 =—X| — — = o
5 \p s 5p°s 5 |p s 5p?s
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43.
43. (2) [NCERT-284]
The energy contribution of both electric and
magnetic fields are equal 44,
44. (1) [NCERT-280]
a<bb>c
45. (1) [NCERT-248] | 45

:
Frequency of LC oscillation =——=—

LxC
f, f f
t=22=f,=—"_orf,=——
f; 22 77 22
46. (2) [NCERT-245] | 46.
| dition V=V, V, =V, . |
n resonance condition R VL cr \/E
i \Y 100 !
1
V =V ie,iX. =—= -
Loe € ©wC ®CR 200x2x10°x10°
V, =250V
47. (2) [NCERT-260] | 47.
48. (1) [NCERT-255] | 48.
49. (1) [NCERT-163] | 49.
50. (3) [NCERT-224] | 50.

) [NCERT—284]

TaEd 3k g9 3 & 1 il IR SR B
(M [NCERT-280]
a<b,b>c
1) [NCERT-248]

1
Frequency of LC oscillation = m

- (21_ X 40] _ (8)1/2

LxC
f, f f
1=22 == _orf=—
I 22 7 22
(2 [NCERT—245]
VLN =Vt =)
R® "L c’ \/E
. i v 100
V =V, i, iX.=——= =
L= Ve 18R = E T GCR  200x2x10° x10°
V, = 250V
() [NCERT-260]
1) [NCERT-255]
(1 [NCERT-163]
(3) [NCERT-224]

NLI/10



CHEMISTRY

SECTION-A SECTION-A
51. (3) [NCERT 86] | 51, (3) [NCERT 86]
52. (3) [NCERT84] | 55 (3) [NCERT 84]
: ; Gl T = 1 : 1
for isoelectronic species ionic radii «< ENG a9 E@Eﬂﬁﬂs‘ o F T e NG
53. @ [NCERT117] | 53. (4) [NCERT 117]
There must be three lone pair of electron occupies YoiRae Rufy & =oet
equitorial positon and remaining two axial bond will # . il Eﬂ:r T T A
be identical. R S A A 3 T I B
54. (3) [NCERTXI-322] | 54 (3) [NCERT-XI-322]
55. (3) [NCERT14] | 55. (3) [NCERT 14]
A
Caf (a3 50, (0)——3CO. (ar+ 4H,0(0) C.H, (@)+ 505(0)—* 300, (g)+ 4H,0(g)
A=CH-CH,CN | A=CH,-CH,—CN
B=CH,—CH,—CH,—NH
A A B=CH,—CH,-CH,—NH,
57. (4) [NCERT 378]
| 4) [NCERT 378]
58. (3) [NCERT-XI-23]
(3) [NCERT-XI-23]
Mass % of A= —MasSOf A _ 44 I AT TEA
Mass of solution AR N THAM = ﬁmx 100
2 2
= 100 =10% = =
2+18X ] _2+18><100_10%
59. (2 [NCERT121] | 59. (2) [NCERT 121]
0,—2 0,—2
He, =0 He, -0
bl el H, > 1/2
Ny -+ N, >3
60. (@ INCERT221] | g9, (2) [NCERT 221]
61. (4) [NCERT-XI-107] | &4 @) [NCERT-XI-107]
62. (3) [CBSE1990] | o 3) [CBSE 1990]
63. (3) [NCERT 116] | g3, 3) [NCERT 116]
The d-orbital involved in sp3d hybridisation isd . sp*d T ¥ d, |, d-her e 21
64. (3) [NCERT-160] | 64. (3) [NCERT-160]
In a reversible isothermal process, the change in IhA TG TR H FRE SO A IR
internal energy is zero. bilgl BT B
65. (4) [NCERT 340] | 65. (4) [NCERT 340]
0 0 0 o]
)I\/\/ and /\)j\/ are position and )]\/\/ 3R /\)k/‘:"“‘_‘r BEIEEE I
metamers isomers. HeATS GAadal 2 |

NLI/11



66. (1) [NCERT 335] | 66. (1) [NCERT 335]
Q@—N—CHa QEN—CHJ
EH, &,
N-ethyl-N-methyl cyclohexanecarboxamide N-ethyl-N-methyl cyclohexanecarboxamide
67. (1) [NCERT-199] 67. (1) [NCERT-199]
HCIO, > HCIO, > HCIO, > HCIO
4 * z - HCIO, > HCIO, > HCIO, > HCIO
(Decreasing acidic character)
CIO,~ < CIO,- < CIO,~ < CIO- (ST 1 e g3 )
(Increasing basic strength) ClO,~< CIO, < CIO, < CIO"
(Conjugate base of strong acid is weak base) (&TREFAT T Tl T3 )
L) [NGERT144] (FaT 3TFT T BT &R ool BIT 2 1)
value of a « intermoleculer force o« 1/pressure 68. (3) [NCERT 144]
exerted .
a =l A o H HAVFIF T oc 1/ 7
69. (2) [NCERT 170]
69. (2) [NCERT 170]
CH, +20,— CO, + 2H,0 |
CH,+20,— CO,+2H,0
4 gm CH, liberates 2.5 kcal
25 4gm CH, 2.5 kcal S5 IcT~ el &
16 gm CH, liberates == 16 =10 kcal I 25
16 gm CH, ——x16 = 10 kcal FSHT I M|
70. (2) [NCERT-XI-326] 8 v d
170. 2 [NCERT-XI-326]
7. @ [NCERT 299]
Density of 1A metal 1stly | upto Ca than T. n. @ [NCERT 299]
72. @ [NCERT-XII-406] A &g 1 =eT Cadh “feell @ 58 a1 el 2|
p-Hydroxyazobenzene (orange dye) 2. @ [NCERT-XII-406]
73. (4) [NCERT 316] P8ISR Tllaoi (orange dye)
The common oxidation states exhibited by group 73. (4 [NCERT 316]
14 elements are +4 and +2, Carbon and Silicon TE 14T B YR TMFT SRR SR
mostly show +4 oxidation state, Group 14 oxides +4 FR 422, C #N Si TFEET +4 R e
in higher oxidation states of elements are generally RER 2 99 & 399 FEEET IE § wE 14
more acidic than those in lower oxidation state. S AR T P SIS Fige o T
74. (4) [NCERT 317, 318, 319] ¥ IR g B 2
. " 3
In diamond each c-atom undergoes sp 74. (4) [NCERT 317, 318, 319]
hybridisation, In graphite each layer is composed
of planer hexagonal rings with sp? hybridized ¢- B H TF C-RAY spPFHRA B €, YHEC A
atom, Fullerenes are made by heating of graphite JF T Sp2HEHRT C-9 F Y K SR
in an electric arc in presence of inert gases, Max. fan & s 2 21 e it T 9 Suftufa
percentage of carbon is present in anthracite T 3 o AHIEE A IR FD T I B | FEA
between diffrent form of coal. & A g YR ¥ B 2
75. @ [NCERT-198]
75. (4) [NCERT-198]

NLI/12



76.

77.
78.

79.

80.

81.
82.

83.

(3) [NCERT 15] | 76.
Mole fraction
X _ Molality
solute —
Molality + 1000
solvent
2
Xsalute = W
18
. 0.035
1036
(3) [NCERT-X1-408] -
3) [NCERT 337] -
i
e
CH,
2-cyclohexylbutane |
79.
@3 |
K P xPn3 _0.6x0.8x08x0.8
2
Pa %P5 02x04x%x04 |
=96
@ [Mod. CBSE] 80.
_ h _ 6.63x107™
“mv 10x10™ x100
=6.63x10%" m
(2) [NCERT 344] Bl
3) [NCERT 295] 82.
Super oxides are paramagnetic in nature
The basic strength of hydroxide increases down
the group. 83.

(1) [Mod. CBSE 2002]
% of metal M = 84.00
. % of oxygen = 100 — 84 = 16.00

Element % mole ratio  Least Whole No.
ratio ratio
84 1.5
—=1.5 —=15
Metal 84.00 e 1 3
16
Oxygen 16.00 — =1 =1 2

16

1
1
Hence, molecular formula = M;0,

(3) [NCERT 15]
AT I
Molality
xsolule =
Molality + 1009
solvent
2
Xsﬂlule = 2 . 1000
18
035
1036
3) [NCERT-X1-408]
3) [NCERT 337]
T
Ori
GH;
2-cyclohexylbutane
(3)
k _PoxPp’ _06x08x08x08
P PaxP2 02x0.4x04
=06
(4 [Mod. CBSE]
_h _ 663x10™
“mv 10x107F x100
=6.63x10"m
(2 [NCERT 344]
3) [NCERT 295]
I STerarEE o Wi Savaa B 3| BIges
F aTRdT AT WE A IR A A AW R Tg9 2
4] [Mod. CBSE 2002]

I T 9T M = 84.00
-, e =T 99 = 100 — 84 = 16.00

L) % WAFTAE o7 qeT
SRR ST -
84 15
—=15 —=15
uy 84.00 : 3

g 16 1
FiEEre 16.00 5 = 1 I=1 2

AT = M0,

NLI/13



84. (1) [NCERT-68] | 84. (1) [NCERT-68]
Energy o (n+1) FAl o (N+1)
If value of (n+]) is same IR (n+) =T aﬂwél
Energy o< n Fl o
85. (1) [CBSE-1990] | 85. (1) [CBSE-1990]
CaCO, —> Ca0 + CO, CaCO, — Ca0 + CO,
100 kg 56 kg 100 kg 56 kg
Pure limestone in 25 kg = 60% of 25 = 15 kg 25 kg el ¥ & AT TR 25 T 60% = 15 kg
100 kg CaCO, give CaO =56kg 100 kg CaCO, = 56 f&ram CaO
56 56
15 kg CaCO,give CaO = mx 15=8.4kg 15 kg CaCO, = mx 15=8.4 kg
= 8.4%10% gm = 8.4x10° gm
SECTION-B SECTION-B
86. (2 [NCERT-XI1-170] 86. (2) [NCERT-XI-170]
87. (1) [NCERT-XI-125] 87. (1) [NCERT-XI-125]
ZFPF?> ~CIPCI> ~CIPF /FPF> ZCIPCI> ~CIPF
88. (4 [NCERT-XI-353] | 88. (4 [NCERT-XI-353]
thiophene > Pyrrole > Furon e > argdier > q{ﬁ?{
89. (2 [NCERT-18] | 89. (2) [NCERT-18]
A=g><2B:>§=i A=Ex25:>é=i
3 B 3 | B 3
=AB, =AB,
2. (3) [NCERT-386] | 90. (3) [NCERT-386]
CH, -~ €~ H CH,CH, ~C—H  CH,CH, ~C—H CH; —C-H CHCH, ~C—H  CHyCH, —C—H
H—C—CH,CH, CH,CH,—C—H H—C—CH,CH, H“C?inCHa CHaclflI’zr;C*H H—I_D—CHZCH3
p#0 20 =0 I
9. (2 [NCERT90] |91 (@ [NCERT-90]
922. (2) [NCERT-349] | 92. (2) [NCERT-349]
93. (1) [NCERT-129] | 93. (1) [NCERT-129]
9. (2) [NCERT-353] | 94 (2 [NCERT-353]
[1"¢ all atom have complete octet so its propotion (1M st wwmopa ¥ gt reea BT # el 3@e
will be major. Wﬁ‘i’ﬂﬁ@l"m
95. (4) [Mod.CBSE] | g5 (4 [Mod. CBSE]
It markonikoff addition and 11" is peroxide effect. qee TR AR 3 1R T 2
% @ INCERTXIEHST | g, 3) [NCERT-XII-343]
OH ONa OH oon oH ONa o
© —= © Liiff ©/C @ NaOH © 60 @’COOH
Salicylic acid 4
97. (2) INCERT-X-282] | o al%[N"ic"?E‘ RE"TESZ]
98. (4) [Mod. CBSE] | 05 4 [Mod. CBSE]
99. (1) INCERT-350] | g9 (4) [NCERT-350]
100. (2) [NCERT313] [ 150 (2) [NCERT-313]
26F, = BNaH -0y B, + B NaF OBF,+6NaH 459K . B H_+ 6 NaF

NLI/ 14



BIOLOGY

SECTION-A—(PART-1)

SECTION-A—(PART-1)

101. (3)

102. (4)

103. (2)

104. (4)

105. (4)

[NCERTH-270]
Statement I:

In Human Breathing involves two stages : Inspiration
and expiration.

Statement Il :
External Intercostal muscles involved in Breathing.
[NCERT4-282]

Statement I:

The complete double circulation present in human
Statement Il :

The incomplete double circulation present in frog.

Statement [:

Ammonia is the most toxic form and requires large
amount of water for its elimination.

Statement Il :

aquatic amphibians, aquatic insects and many bony
fishes are ammonotelic.

[NCERTH-303]

Statement [:

Movement of our limbs, Jaws Tongue etc require
muscular movement.

Statement Il :

Locomotion requires a perfect coordinated activity of
muscular, skeletal and neural system.

[NCERT--303]

Statement [:

Skeletal muscles are closely associated with skeletal
components of the body.

Statement Il :

Visceral muscles are located in the innerwalls of hollow
visceral organs of the body.

101.

102.

[NCERT--290] | 103.

104.

105.

3)
Y -1

[NCERT-1-270]

AT TG 3 3 =0T AR ¢ 3399 3R [ Taae

Y -1l :
T T T TTET F AT W 2

(4) [NCERT--282]

YT -1

ol gRE=ReT 91 S § 9 A R

YT - 11

ot aREERer 71 dg ¥ T S 2

(2) [NCERT--290]

FYq -1:

ST wEieE i § 3R 3Ea veed & fo
FFeafire W 9 agRT Bl 21

YA -1l

TR IR, Wil Hle 3R 95T ¥ Jeqw Aofert
SR T 2

(4)
Y -1

TR IS, SE) 3R i anfe & wfy % ferw Odilg o
T 2

[NCERT-1-303]

Y -1l:

7o & forg Ui, Femrel SiX afeen a1 & ot S
ERIEE EEEEn R ]

@

hyd -1:
FHehTel il AARF Fepre FaTal & Heahe a9 3 sl
3

Sy -l

ST AT IR & WiEe 3 O - MERA, 99
ARt afe &) et Pl F v 2 21

[NCERT--303]
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106, @) [NCERTI-T7,18] [ 106. (4) [NCERT-I-17,18]
¢ Both (A) and (R} are correct and (R) is the correct « (A) 3R (R)ZFE w8 2 3 (R) 98 =gRear 2 (A) &
explanation of (A)

107. (4) [NCERT-I-102,103] | 107. (4) [NCERT-I-102, 103]
Glandular epithelium -  Goblet cells AFrE STERET — e S
Compound epithelium — Skin '

Exocrine gland — With duct TYFT 39l -
Endocrine gland — Without duct g afey - 4R qad
Dense regular tissue —Tendon 3T T R - afffEs
108. (4) [NCERT-I-113] .
_ . _ T FERT A - oS
gi:z::ilgncaeca are 6-8 in number and help in 108. (4) [NCERTA-113]
: : . (a) TFAE JeAE dE X 6-8 BT € IR qEE ¥
Gizzard is also called as proventriculus.
TEET FA B
Hindgut is broader than midgut 2
9 9 (b) et =y T ST S e
Blood vessels are poorly developed : 2
poorly develop (c) TTT 3 TeAHT ¥ oG AH 2
109 @ [NC--5,10] (d) T AR T o fa A 3
Plant order includes family solanaceae, | 109. (4) [NC-1-9,10]
convolvulaceae. T I e S e et R o
Solanaceae — Datura, Petunia, potato | &
110. (4) [NCERT-1-56,57] . FTAE
+  Both (A) and (R) are correct and (R) is the correct | . | - U, 1, ﬁ-gﬁ-q-[
explanation of (A)
110. (4) [NCERT-I-56,57]
M. (1) [NCERT--46,47] .
Digestive system with -  Incomplete + T A 3R R8I 2 3R R, A %l 98] IRA] el 8 |
one opening 1M11. (1) [NCERT-1-46,47]
Digestive system with -  Complete TS R g VECRE - 3']110?
two opening 3 ;
ERPF g - T
Closed vascular system -  Blood vessels ) )
: 72 qRE=RT 97 - & afEe
Openvascularsystem -  Sinuses
12. (1) [NCERTA-73, 75] T gRE=r 9 - g
Polyadelphous — Citrus 112. (1) [NCERTH-73, 75]
Epipetalous —  Brinjal e ueeFq - g
Epiphyllous — Lily e - F=
Perigynous — Peach i e _ st
113. (4) [NCERT--78-81] SreTeT _ o
Bisexual ﬂower—solanaceae,. fabaceae, liliaceae, 113. (4) [NCERT-I-78-81]
Bressicaceae )
114. (3) [NCERT-I-101] afefflt g7 - Ao, b, Faferedl, Sendh
— Squamous — Blood vessels and 14. (3) [NCERT--101]
epithelium air sacs of lungs. qEAY ITHAr - wareHterEl 797 Raarfe
— Cuboidal — Ducts of glands A
epithelium
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115. (3)

116. (2)

17. (2)

118. (4)

119. (1)

120. (1)

121. (4)

122. (4)

123. (4)

[NCERT-1-87, 88]

Phloem parenchyma, companion cell seive tube
elements - living

115. (3)

Phloem fiber is dead due to lose their protoplasm.
Xylem fibres, Tracheids, vessels — Non living
Xylem parenchyma — living

[NCERT-I-93]

The Hypodermis in dicot stem are made up of
collenchyma.

116. (2)

[NCERT-n237 | 117- @

In amensalism on the other hand one species is
harmed whereas the other is unaffected. Predation,
parasitism and commensalisms share a common
characteristic— the interacting species live closely
together.

. . . 118. (4)
In mutualism both species are benefitted

[NCERT-I-251]

In hydrarch succession the Pioneers are |
Phytoplankton
[NCAI-272,273] 119- (1)
Quality of fuel,Vehicle engines — Bharat stage. |
[NCERT-lI-229]

In a population, unrestricted reproductive capacity [ 120. (1)
is called as biotic potential.

[NCERT-II-254,255]

Statement |: 121. (4)

The product of ecosystem processes are named
as ecosystem services.

Statement |l :

Phosphorus is a major constituent of biological

membranes, nucleic acid and cellular energy
transfer systems.

[NCERT-II-266] | 122. (4)

Statement |

The ethical argument for conserving biodiversity
relates to what we owe to millions of plant, animal
and microbe species with whom we share this
planet.

Statement |l :

Philosphically or spiritually, we need to realise that
every species has an Intrinsic value, even if it may
not be of current or any economic value to us.

[NCHI-247]
According by Lindman only 10% energy are

transferred from one trophic level to other trophic
level. So this pyramid is not possible.

123. (4)

[NCERT-1-87, 88]
— wifaT e
FAFACH = FAGH T
SAEe BISI, Shigd, J9eT - el
WEed RAFRA - FW
[NCERT-1-93]
BTEAISA FedioTa 9 ¥ FloehTEAr & S B 2
[NCERT-I-237]
vl & 9N # 99
%mmﬁraﬁaﬂﬁaﬁ%w?ﬂ s =
FEIRET - 3 g aefa S
[NCERT-I-251]
AT AT ¥ Al aEY S8 a9l Wil
SR gienfiT e 2
TR ITRAT ¥ TS hrEeIehe M B B
[NC-II-272, 273]
g_ﬂ;ﬁm, AEFH F ol Hl U TR

[NCERT-I-229]

TEE ¥ e W S eFaT hEadl & shanr
&7

[NCERT-II-254,255]
Y L

QRS gfhar & Il & TRG= 999 @ AW &
ST ST 2

HYT Il :

Foll TR YU T Qeh T e 2|

[NCERT-1I-266]
HYA I

ST AR S ® AN 99 5 e A uE
R I9RYT 39 WG W], 9IST 9 GeHelT ofaar o
2, foms s s w2

T I :
TEFE T AT € ¥ &9 I8 9He T HAFr
2 1o 7= S 1 19T AoRied BT B, el &
ELER AT Gl i REA i ]
[NC-11-247]
=i & R 10% Feil U 90T &R ¥ T@
qiyuy TR ¥ SEMRT Bl 2 39 98 [Rfve e

& 2
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124. (1)

125. (3)

126. (4)

127. (3)

128. (4)

129. (2)

130. (4)
(1
2
(3
131. (4)

[NCERT-I-227]

An indivisual may have births and deaths but a
population has birthrates and death rates another
attributes characteristics of a poupulation is sex
ratio. An indivisual is either a male or a female but
a population has sex ratio.
[NCERT-1I-282]
Dobson units measures thickness of ozone
[NC-II-275]

Statement | :

Algal blooms cause deterioration of the water

quality.

Statement Il :

Microorganism involved in biodegradation of

organic matter in the receiving water body

consume a lot of oxygen and as result there is a

sharp decline in dissolved oxygen downstream

from the point of

sewage discharge.

[NCERT-II-263]

The IUCN Red List (2004 ) documents the extinction

of 784 species (including 338 vertebrates, 359
invertebrates and 87 plants) in the last 500 years.

[NCERT-II-264, 265]
The Evil Quartet term are related

with Biodiversity loss.

Cause of Biodiversity loss — habitat loss and frag-
mentation, over exploitation, coextinction, alien spe-
cies invasion

[NC-I-311]
Pectoral girdle bone are two clavicle and two
scapula.
[NCERT-II-61 to 64]
Male human — Vasectomy
Female human —  Tubectomy
ZIFT, GIFT - ART

[NCERT-II-60 to 61]
Non-medicated IUDs - Lippes loop
Copper releasing IUDs - CuT, Cu7, multiload 375
Hormone releasing IUDs-progestasert, LNG-20

IUDs-emergency contraceptive

124. (1) [NCERT-I1-227]

T W 5 0 @ 31 T8 O IR, T,

o s 21

U T H{T O @ 2| e IO I, T 2
[NCERT-I1-282]

_ggﬁ%aﬁﬁhﬂ #1 e I AW & T =T S

[NC-11-275]

125. (3)

126. (4)
FYA -1
Tl T8ReT & FHRU el S [T T S 2
wYd -1l :
R ST ¥ S e B w9 e
FEANT JAFEIST 9 T AT T ITHAT
FA 21 D TR dlfed I g v W A
(S5 &9T) I W Y[ STeRdTe ST AT A o 9
firgae o 21

127. (3) [NCERT-1I-263]

YA, AT T (2004 ) F WA F IR

et 500 W % 784 il (338 FHIEH, 359

RGN AT 87 URW) A B WA B A4 R

sty ¥ Aider 3 A, ST I TR, s

I ISed, ¥ Sl T Gl W U A, SEr a4

FHegge & a9 F A5 IyAtear mind €1
[NCERT-II-264, 265]

Evil Quartet 71 Siafafaemr i eifer & s &

Wafafaear i &y & SR 2

i <

Hefagear

R a3 fawme

e sfer ST

129. (2)

128.(4)

[NCH-311]

3 A e 3 TR 3R A Folfdshd I B
7
130. (4)

(M

¥

3)
131. (4)
3fifer ¥ 1UDs
FIR RATTT IUDs
BRI e
IUDs

[NCERT-II-61 to 64]
JEFHT
- R
ART
[NCERT-II-60 to 61]
ferar =9
H=eels 375, CuT, Cu7
FeERE, LNG-20

AT
TR AT
ZIFT,GIFT

IUDs ISR RIS
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132. (4) [NCERTHI-153] | 132, (4) [NCERTHI-153]
KSarel anigans peeesn I aamdranmats R T K D et % et 7
called allergy. il ?

133. (4) [NCERT-1-325, 326] 133. (4) [NCERT-I-325, 326]

a. Tympanic membrane - External Ear a. FU9e Rreen - G F
b. Malleus, Stapes — Middle Ear

c. Reissner's membrane —Internal Ear b. A, R - A F
d. Otolith —Internal Ear TEo et .

134. (4) [NCERT-I-121] ¢ < s B
Satellite DNA is important because it Shows high d. iicifery -
degree of polymorphism in population and also the | 134, (4) [NCERT-lI-121]
same degree of polymorphism in an individual, ) !
which is heritable from parents to children.The bulk e ST WEE!EU? BT & A SEe § 3o
DNA forms a major peak and the other small peaks S} it TEETAT AT # w9 S S IgevEr o
are referred to as satellite DNA. g A PO S I T A =i § ELIGUE] 2

135. (4) [NCERTHI-99] 2
For prokaryotic genetic material DNA present 135. (4) [NCERT-II-99]

but no histones. '
, _ | TaRgitE AgEEE =Y & e a9 ¢ S
In eukaryote genetic material made by DNA and -+
histone protein.
SECTION-B—(PART-1) | SECTION-B—PART-1)

136. (2) [NCERT-II-112] 136. (2) [NCERTHI-112]
So(;ne e;]mino ?ﬁids 3re‘ cgded by Tore than one | F:T I 3 U S FEA Y S A 2,
codon, hence the code is degenerate

? T S B 2 SRR

137. (2) [NCERT-II-117]

137. (2 NCERT-lI-117
In regulation of gene by lac operon, repressor bind a1 [ ]
with operator . 20 A F W A R # e emEfs

138. (4) [NCERT-11-96] F TRE TR T IR & FUaT &
Cytidylate = Nucleotides 138. (4) [NCERT-11-96]

139. (2) [NCERT-I-109] o Ha

139. (2) [NCERT-II-109]
3 - “N ““&5'
140. (4) [NCERT-1I-208] b — it TR
“~Ruo T
Both (A) and (R) are true and (R) is the correct
explanation of (A) 140. (4) [NCERTH-II-208]
141. (4) [NCERT-II-199 to 203] (A) IR (R) A T8 & 3R (R) 9T =eem & (A)
(1) PCR — Invitro DNA synthesis 141. (4) [NCERT-II-199 to 203]
(2) Selectablemarker — Antibiotics Resistance (1) PCR — 9 DNAGTY
gene (2) =1 ARy foree — gl g sig
(3) Bacteria — Thermus aquaticus (3) T}ﬁa—p{! — g vaee
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142 @)
(a)
(©

143. (4)
(@

(©)

()

144. (1)
(@
(b)
(©
)
145. (4)

146. (4)

147. (4)

148. (3)

149. (4)
(1
2
3

[NCERT-II-194 to 197]

Molecular Glue — DNALigase
Molecular scissors — Restriction
endonuclease
[NCERT-II-194 ,200,208, 209]
Natural Genetic — Agrobacterium
Engineer
Plasmid — Extra chromosomal
DNA
Alkaline pH — Required for
activation of
Bt Toxin
[NCERT-II-210,211]
ELi Lilly — American company
ELi Lilly — Formation of insulin
Pro-Insulin — C-Peptide
Pro-Insulin — B - Peptide
[NC-1I-212]

Statement -I- Animals that have had their DNA
manipulated to posses and express an extra
(foreign) gene are known as transgenic animals.
Statement-ll-Presence of pathogen (bacteria, viruses
etc)is normally suspected only when the pathogen
has produced a disease symptom.
[NCERT-II-204,205]
Statement I:
In Downstram processing strict quality control
testing for each product is also required.
Statement |l :
The downstream processing and Quality control
testing vary from product to product.
[NCERT-II-197]
Statement I
Restriction endonucleases are used in genetic
engineering to Form recombinant molecules of
DNA, which are composed of DNA from different
sources/genomes
Statement |1 :

When cut by the same restriction enzyme, the
resultant DNA fragments have the same Kind of
stick-ends and these can be joined together (end
to end) using DNA ligases.

[NCH-197]

Potassium involved in protein synthesis.
[NC-1-197,198]

CI- has role in water splitting in photosynthesis

Plant obtains molybdenum in the form of MoO,*?

Carboxylases is activated by zinc

142. (4) [NCERT-I-194 to 197]
(a) T M - DNAWE
(c) 3o - iR QUSRI
143. (4) [NCERT-II-194 ,200,208, 209]
(@) TR AR ~ TR
ST
(c) =S - TRA F AfaRed
DNA
(d) & pH - Btvig fay =t &g
FH & oI s
144. (1) [NCERTH1-210,211]
(a) war ferelt - IRFA A
(b) el feredt — A ggfer o1 AT
(c) 9T -Segfer - C-TwrgE
(d) 9T -ggfer - B-Ywrs
145, (4) [NC-II-212]

FY -I- ¥ Ao s DNA S qitares arr o
| faRea (aEd) SiF srafeem S 31 S 39T eor
o il 81 39 IRWGr Wi Fed 2|

FF-|| AT (A, fEuy snfe ) = Suff &
AT 99 991 41 B | 519 39 81 I T H
e faTg 3 W B
| 146. (4) [NCERT-1I-204,205]
FYA I:
SIS G i I Ie & fore gfivas U
Fra=or qderor ) o maEEeEr B 21
wYA Il :
FYETS WA o IUTaed] HE=avT 93Ev I Jeae
% fo - Bar 21
147. (4) [NCERT-II-197]
FY |
YTEER QUSgERIIGST T SYART SAaerh Solf-araT
A DNAS YHaNTS 3] sH ¥ ferar oimar 2 < e
Gl a1 S & 9T DNAY fietest &1 21T 2
FYA |l :
UF & i Oeaed 3 e W U B el
DNA@TE & w9 TR & ke &t e 21 o
DNA#TEIS &Y werar & sva # (R & )

T e 21

148. (3) [NCERT4-197]
TR Y WERT FIomer ¥ e 7

149. (4) [NC-1-197,198]

(1) FANEE FT T e ¥ ofienr
(2) Y Aot F MoO,? ® sy ¥ o &
(3) FeiaterorT e & SRT Ak BT &
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150. (3)

[NC - 1220]

In C, plants photorespiration does not occur. This
is because they have a mechanism that increases
the concentration of CO, at the enzyme site.

SECTION-A—(PART-2)

151. (4)

152. (3)

153. (1)
154. (1)

155. (3)

156. (3)
157.(2)

158. (2)

[NC-1222]
During photosynthesis several factors interact and
simultaneously effect photosynthesis usually one
factor is the major cause and limit the rate At any
point the rate will be determined by the factor
available at suboptimal levels
[NC-1-218]
The particularly large cells around the vascular
bundles of the C, pathway plants are called bundle
sheath cells, and the leaves which have such
anatomy are said to have ‘Kranz’ anatomy. ‘Kranz’
means ‘wreath’ and is a reflection of the arrangement
of cells. The bundle sheath cells may form several
layers around the vascular bundles; they are
characterised by having a large number of
chloroplasts, thick walls impervious to gaseous
exchange and nec intercellular spaces. You may like
to cut a section of the leaves of C, plants — maize or
sorghum — to observe the Kranz anatomy and the
distribution of mesophyll cells.
[NCERT-II-35]
The given diagram is A typical dicot embryo
[NCERT-II-33]
In unisexual flowers no need of emsculation.
[NCERT-II-38]
There are several records of very old yet viable
seeds. The oldest is that of a lupine, Lupinus
arcticus excavated from Arctic Tundra. The seed
germinated and flowered after an estimated record
of 10,000 years of dormancy.
[NCERT-II-167,168]
a. Mule — Sterile
b. Leghorn—Breed of chickens
[NCERT-I-186]
Biopesticides are living organism or their products
which are used for pest control.
[NCERT-II-118]
Some of the important goals of HGP were as follows:
(i} Identify all the approximately 20,000-25,000 genes
in human DNA
(i) Determine the sequences of the 3 billion chemical
base pairs that make up human DNA.
(iiii) Store this information in databases.
(iv) Improve tools for data analysis.
(v) Transfer related technologies to other sectors, such
as industries.
(vi) Address the ethical, legal, and social issues (ELSI)
that may arise from the project.

150. (3)

[NC -1220]
C, = ¥ wehrdig vae el e € 1 o e e
JATFTSS Aae Tealled o) Ufted A5 W @ 2
SECTION-A—(PART-2)

151. (4)

152. (3)

153. (1)

154. (1)

155. (3)

156. (3)

157.(2)

158. (2)

[NC-1222]
YERTI AERAGOT & SR

- IF PRE TR AT A F T A - 9y
T S THIfET e

«  UMFE: OF FRE ] SR BT 2 S R A
T e B
» T o B R R T 98 FRE T e R S
& IIE TR W SUE B B
[NCERT-1-218]
C, 71 Wi & 9984 959 & IN IR T gee
FIT TeeTe (S5 ) PR Far & 3k
el F&d 3| 981, B F 7Y Dol AT 99,
i TN FT TG T Soel & §F A B B
HaE s o 3T -9 TeTose SIS bt 3l
T B 2, TR 9ET v wer A FeRe B
2, gaal A8 el A A e O § sk
R T T BT S C, e S Hee
AT AR 1 IR T TR AT Y, AR A M
T quiEAla 3 9 |
[NCERT-I-35]
fean wma o o W fsierra Yo @ 2
[NCERT-II-33]
ueh feildr g3t ¥ fages &t A1 srasgeRdr 6l S 2
[NCERT-I-38]
e A CeE T A9 10000 99 0 yEfT 9%
R B |
[NCERT-II-167, 168]
a. W*Eﬁ"ﬂ
b. WWTEM —FFRT T
[NCERT-I-186]
SaNEEEE ® Sifad sig a1 39 39E 9 FEEr
F <NH IARE B §
[NCERT-II-118]
T A Sioee ST AEaqd @ed 8
() W99 & ST F T T 20,00-.25,000 A=
F TEAT T
(i) 3 faferm +fre a9 R & 3wy = e
FAT A AT T YT T
(iiil) 78 o I e & §q A Gl T
(iv) 3ifeher & faeemer 29 4 Tie &l TUR HET
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159. (4) [NCERT-I-160]
Smoking increases carbon monoxide in blood.
Smoking causes oxygen deficiency in body.
[NCERT-II-133, 134]
Placenta absent in marsupials mammals.
Placental mammals  Australian marsupials

43":;} \ i;:"‘
Marsupial

160. (1)

"
[ c. A
;—i,‘,_ 4 ‘
'l’. =) e
‘ e, e e
fAmcater Numbat (anteater)

;’ Y -
& CE

Thep,
TRE

Marsupial mouse

o e
sl s a
Spotted cuscus

A‘%mg
= phalanger

wis
* : b ’ Z &
> = “Bobcat | Tasmanian tiger cat

as
<
D - !
1 13
Tasmanian wolf

[NCERT-II-131]
The given diagram is examples of homologous organ

[NCERT4-337]

161. (1)

162. (4)
Aldosterone hormones is not involved in sugar
metabolism

163. (3) [NCERT-I-78]

It is a trihybrid cross
n = Heterozygous = 3
Types of gametes =2"=2°=8

Type of genotypes = 3n= 3*= 27
164. (3) [NC-I1-91,92]
Turner's Syndrome : Such a disorder is caused
due to the absence of one of the X chromosomes,
i.e., 45 with X0, Such females are sterile as ovaries
are rudimentary besides other features including

lack of other secondary sexual characters.

159. (4) [NCERT-II-160]

SR T # e AISTEEIES 6 AT T 2
LI IR A ST &t A Y ST ®
[NCERT-I-133, 134]
39 farerer g % 98 9 S R
— ST T e g

160. (1)

fox 7.7 arsfomm R @ik st sl
SR firprg 5wt A A
161. (1) [NCERT-lI-131]
oo T o SIS S T I R
162. (4) [NCERT4-337]
TeRIER B e & SUITEd A HRT a8l ol 2
163. (3) [NCERT-II-78]
Ig UF ¢TSRS H 2
n = BeASIEY = 3
T H qPR=2"=2°=8
SFIeET & UHR = 3= 3%=27
164. (3) [NC-I-91, 92]
— TR =
— T TR I TS 2 |
— AR = 2n—1
—s MR 45, XO& 9
— % UG & e A B ¥ B §

NLI/ 22



165. (1) [NCHI-79] | 165. (1) [NC-II-79]
Among 16 —— 1 green and wrikled 16 ¥ 137 W
o l—1/16

1 i><16()0='100
. 1600—— = %1600 =100 16
166. (3) [NC-I1I-74]

166. (3) [NC-II-74]

Dihybrid test cross ratio 1:1:1:1 f, 9 ¥ WY & FI 1:1:1 1 yeRiT B 8

167. (4) [NCERT-1I-85] HERHE S|
The amino acid phenylalanine is converted into
tyrosine with help of enzyme phenyl alanine 167. (4) [NCERT-II-85]

168. (2) oniese [NCERTHI- 86,87] e ol

' ’ I B RIS SIEgaI Trallgd & BN
It is also evident that in each pregnancy there is
always 50 per cent probability of eithera maleora  168. (2) [NCERT-II- 86,87]
female child. It is unfortunate that in our society > ; : % Tif
women are blamed for producing female children 3 e = 50 % B 2
and have been ostracised and ill-treated because | 169. (4) [NCERT-281]
of this false notion. )

(A) 3R (R)FT w8t 2 3R (R) @8 =ram 2 (A) ST
169. (4) [NCERTH-281]
I -
Both (A) and (R) are true and (R) is the correct 170. (1) [NCERT-1-283,284]
explanation of (A). (A) 3 (R) 3 7 2 Afr (R) @) arer =4 2

170. (1) [NCERT-1-283,284] (A) T
Both (A) .and (R) are true but (R) is not the correct 171. (4) [NCERT-1-50]
explanation of (A)

171. (4) [NCERT-II-50] E-GEIERCIRS LIE] BT 2| SRITFT @ F BT
Lack of menstruation is indicative of pregnancy. | 472 3) [NCERT-I-47 to 51]
However it may also be caused due to some other
underlying causes like stress, poor health etc. e wiferr - 15 -20

172. (3) [NCERT-II-47 to 51] TE _ 28 - 29
Mammary lobes - 15-20
Menstrual cycle - 28-29days SEEE - 3 -5k
Menstrual flow - 3-5days ST - UMT-1BIFRE
Ovulation - 14-15"day

173. (3) [NCERT--259]

173. (3) [NCERTH-259]

The main central region of stomach is body I 1 AT Hr 8 FH 2 2

174. (2) [NCERT-1-272] | 174. (2) [NCERT-1-272]
Intissue P, and P, are 40 mmHg and 45 mmHg ST 3 pO 3K pCO_ FE: 40 mmHgaﬁI45 mmHg
respectively. 3 z z

|
175. (2) [NC-1-258]

The upper surface of the tongue has small
projections called papillae, some of which bear
taste buds.

175. (2) [NC-1-258]

W P FIT TG R I AH T doieE 9iel €1
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177.

178.

179.

180.

181.

182.

183.

184.

185.
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@)

@)
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[NCERT-I-290, 291] 176
Uricotelic = Reptiles, Birds, land snails

[NCERT-II-50, 51, 52, 53]
Follicular phase = Proliferative phase 177
[NCERTH-287]

Parasympathetic neural signal decrease the rate

of heart beat speed of conduction of action potential | 178.

and thereby the cardiac output.
[NCERT-lI-52, 53]

The embryo with 8 to 16 blastomeres is called a
morula

[NCERT-143]

Urethra - unpaired
Vasdeferens, epididymis, ejaculatory duct - paired.
[NCERT-I-176]

Diffusion rates are affected by the gradient of |
concentration, the permeability of the membrane
separating them, temperature and pressure.

I
[NCERT--185, 186]

The hyphae have a very large surface area that |
absorb mineral ions and water from the soil from a
much larger volume of soil that perhaps a root
cannot do.

[NC-1-187]

Transpiration is the evaporative loss of water by

plants. It occurs mainly through the stomata in the | 182.

leaves. Besides the loss of water vapour in
transpiration, exchange of oxygen and carbon
dioxide in the leaf also occurs through pores called
stomata.

[NC--168] | 183.

Recombination between homologous
chromosomes is completed by the end of
pachytene, leaving the chromosomes linked at the
sites of crossing over.
[NC--163]

S or synthesis phase marks the period during which
DNA synthesis or replication takes place. During
this time the amount of DNA per cell doubles. If the
initial amount of DNA is denoted as 2C then it
increases to 4C. However, there is no increase in
the chromosome number; if the cell had diploid or
2n number of chromosomes at G,, even after S
phase the number of chromosomes remains the
same, i.e., 2n.

179.

180.

181.

184.

185.
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(1)

@

(1)
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[NCERT--290, 291]
R 3 Ioaol - JAYT, Tel, Tl e
[NCERT-I-50, 51, 52, 53]
TEH T = TGN - ST
[NCERT--287]

T AT G M ST e S aEl &l
9 T 2

[NCERTI-52, 53]
8 -16 FIRHT T T YT Faaram & AqEam

[NCERTAI-43]
TN = 3R
IHAES, ARG, SHIeCy aieAl =GR

[NCERT-1-176]
TR 1 <X IR B @
- A A YA
- Toreelt & T &

- A SR T &
[NCERT-I-185, 186]

AEHNG H Faeh &g Hl ITENT &
3 Fiedt & o ©F | &l FEEiNg S 8

[NCERT--187]
oelf ¥ AT H AT F T A AN a0
FEArT B

[NC-1-168]
TS SRS % AT = ¥ S 21
[NC4-163]

I & WO & a7E UG H 9T 46 B A AT B
TF RO F U H G 46 BRM |
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186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

M

@)

@)

@)

@)

@)

M

4)

@

4)

[NC-I-168]
In oocytes of some vertebrates, diplotene can last
for months or years.
[NCERT-I-144, 145]
Fatty acid — Palmitic acid
Phospholipid — Lecithin
Aromatic amino acid — Tryptophan
Acidic amino acid — Glutamic acid
[NCERTH-134]

Golgi apparatus is the important site of formation
of glycoproteins and glycolipids.

Golgi apparatus principally perform the function of
packaging materials

[NCERT4-154]
Both (A) and (R) are correct and (R) is the correct
explanation of (A)
[NC-1-135to 138] |
Mature erythrocytes contain no any cell or-

ganelles like mitochondria, nucleus hence DNA |
are not present.

Seive tube cells are ennucleated cell but other |
cell organelles are present like mitochondria, chlo-
roplast. Mitochondria and chloroplast have it's own
DNA besides nucleus.

[NCERT-76, NCERT-lI-35]

The coconut water and the edible part of coconut
are equivalent to Endosperm.

[NCERT-I-16]

Generally after fertilisation the sepals, petals and
stamens of the flower wither and fall off.

[NCERT--87]

Both (A) and (R) are correct and (R) is the correct
explanation of (A)

[NCERT-I 38 to 41]
Seed bearing plant are called as spermatophyta
eg. Gymnosperm, angiosperm.

[NC-34-39]
Marchantia — Dioecious
Pinus — Monoecious
Cycas — Dioecious

In cycas ovules are very large and megasporophyll
are not associates to form female strobili or female
cone.

186.

187.

188.

189.

190.

191.

192.

193.

194.

195.
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[NC-I- 168]

FT INCE & FAReE A RedH R w8 A
Al T 9 gl B

[NCERT-I-144, 145]

THT 3T - Ui el

HeRifefde - wfed=

wifew A e - e

3T SR SR - TeRe 3
[NCERT-l-134]

TEH NET T Tgeiime e @ g
WD JReT &
AT FRCE T T & 7 ol Fafted ey Tl FE
FA B

[NCERT--154]
B4 A 3 REE 2 3R R, A &1 9E1 SReA] el B

[NC-1-135to 138]
Ry TAFEEe H FIEHNT IR B 81 3R
DNA &t =12} 9 e 21

— 49 Tgg TR ¥ Peew T8 T o 21 A

—_

3)

(1)

)

@

)

HIZSIRISAT, Fa Il S 2 |

SIS, 9 § Jearhk DNATRI ST 21
[NCERTA-76, NCERT-II-35]

e 1 9F S RIS & @RI R Yoy ®
TR B 2

[NCERTAI-16]
AE: e & 9% I & 9Ed a9, T8 3R
THER R 7 914 B
[NCERT4-87]
FFr A AR REEr 2 3R R, A &1 981 SgRed] &l 2 |
[NCERT-I 38 to 41]
WHFIFST - A W a1 e
Roraire, ofmeert
[NC-1-34-39]

AEFE ¥ geeiiiithel JEaR T FFIae Gl e
F (Mg ) 78 s 2

iz feferdt urey &
HAR{-2ET GeRiei 9127 &
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196. (3)

197. (1)

198. (3)

199. (2)

200. (3)

[NCERT--38]

Psilopsida (Psifotum); Lycopsida (Selaginellfa,

Lycopodium), Sphenopsida (Equisetum) and

Pteropsida (Dryopteris, Pteris, Adiantum).
[NCERTH-21]

Dinoflagellates are mostly marine and
photosynthetic. They appear yellow, green, brown,
blue or red depending on the main pigments present
in their cells. The cell wall has stiff cellulose plates
on the outer surface. Most of them have two flagella;
one lies longitudinally and the other transversely

in a furrow between the wall plates.

[NCERT-I-36 to 41]

Pteridophytes, Gymnosperm, angiosperm plant

body is sporophytic have true root, stem but Wolffia

is root less angiosperm. Salvinia - Rootless

because aquatic pteridophyte.

Pteridophytes, Gymnosperm, — Vascular tissue
angiosperm

[NC-I-65to 67] I

(A) is correct but (R) is not correct

[NCERT-1I-140, Mod. NEET 2012]

About 15 mya, primates called Dryopithecus and
Ramapithecus were existing. Ramapithecus was
more man-like while Dryopithecus was more ape-
like.Homo habilis. The brain capacities were between
650-800cc. They probably did not eat meat. Fossils
discovered in Java in 1891 revealed the next stage,
i.e., Homo erectus about 1.5 mya. Homo erectus
had a large brain around 900cc.

From ancestral human to modern man and then
man of today cranial capacity are gradually
increased hence it is most important trend in the
evolution of man.

196. (3) [NCERT4-38]
AT - fetfomar
(SRS - uRuew
ThATIRET - g
AT - 9gaeH
197. (1) [NCERT-1-21]

.+ IEAITRINTE I W U9 JREETe B

.+ T FIRE ¥ IR TG T @ SR WA

+ g TR B & TR wwE ) SsgEd B w9
TefewR B 71

+  HUFR TEARIREE ¥ o war B ¥ e o
AT T T8 FIE w7 @ iR welewst &+ 9
I @i ¥ Iufewe e 2

3)

198. [NCERT{-36 to 41]

A O, T o1 e = 2aeinse, e,
vRegreg

ez P, P
ot - gRRred
oforde

199. (2) [NC-1-65 to 67]

. AGHE T REH T ?
200. (3) [NCERT-II-140, Mod. NEET 2012]
My AT (SR ) w1 38R gaal @ fawe A

FAftre Feeaqul faaRenT Ut &aT 1 der 4
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